
General Intelligence and Reasoning

 1. Four pairs of numbers have been given, out of which 
three are alike in some manner, while one is different. 
Choose out the odd one.
1. 236 : 325 : 263   2. 189 : 198 : 819
3. 761 : 617 : 176   4. 416 : 641 : 461

 2. Select the figure that will come next in the following 
figure series.

?

1. 2. 3. 4.

 3. In a certain code language, W is written as B, K is written 
as H, L is written as U, N is written as A, O is written as 
M, , E is written as R, D is written as G, G is written as E, 
then how will KNOWLEDGE be written in that code?
1. HAMBURGER  2. MAHBERGUR
3. HAMBUGREG 4. MAHBURGER

 4. Which of the option figure is the exact mirror image of 
the given problem figure when the mirror is held to the 
right side of the problem figure?

 Problem Figure:

1. 2. 3. 4.

 5. Select the Venn Diagram that best represents the 
relationship between the following classes.

 Fiber, Cotton, Jute

1.    2.

3. 4.

 6. Select the letter that can replace the question mark (?) in 
the following series.

 E,Y, U, O, K, ?, A
1. H 2. F 3. E 4. G

 7. Four pairs of numbers have been given, out of which 
three are alike in some manner, while one is different. 
Choose out the odd one.
1. 25 : 650 2. 14 : 210 3. 7 : 50 4. 21 : 462

 8. Select the option that is embedded in the given figure. 
(Rotation is NOT allowed)

1. 2. 3. 4.

 9. Select the option that is related to the third term in the 
same way as the second term is related to the first term.
1. Fire 2. Tree 3. Nest 4. Wood

 10. Which one of the given options would be a logical 
sequence of the following words?
1. Plant 2. Seed 3. Sprout 4. Tree
5. Sapling
1. 1, 5, 2, 3, 4 2. 2, 1, 4, 5, 3 3. 2, 3, 5, 4, 1 4. 2, 3, 5, 1, 4

 11. Select the option that is correct for the bracketed numbers 
with respect to their inclusion in the given series.

 4,11, 30, (67), 128, 219, (346), 515
1. The first bracketed number is incorrect and the second 

bracketed number is correct.
2. Both the bracketed numbers are correct.
3. Both the bracketed numbers are incorrect.
4. The first bracketed number is correct and the second 

bracketed number is incorrect.
 12. Four letter-cluster have been given out of which three 

are alike in some manner, while one is different. Choose 
the odd one.
1. TVXZ 2. IKMO 3. CEGI 4. OQRT

 13. ‘Moisten’ is related to ‘Drench’ in the same way as ‘Prick’ 
is related to:
1. Stab 2. Pin 3. Knife 4. Scratch

 14. Select the figure that will come next in the following 
figure series.

*@ ?# @* $@ # + @$

1.  $@  2. @ +   3. @$  4. $ @+

 15. Select the option that is related to the fifth number in 
the same way as the second number is related to the first 
number and fourth number is related to third number.

 121 : 145 : : 49 : 65 : : 169 : ?
1. 193 2. 196 3. 198 4. 197

 16. Richa starts walking from her home and walks 50 m 
towards west and then turns left and walks 90 m. Then 
she again turns left and walks 30 m. After that she again 
turns left and goes 120 m. She finally turns right and 
walks 20 m and reaches her final destination. How far 
is she from her home now and in which direction with 
reference to her home?
1. 40 m, North East 2. 30 m, South
3. 30 m, North   4. 40 m, North West
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	 17.	 Select the option that will fill in the blank and complete 
the given series.

	 	 DXB, GSI, JNP, MIW, _____
1.	 OED	 2.	ODE	 3.	PDD	 4.	PDE

	 18.	 In the following equation, two signs and two numbers 
need to be interchanged to make it correct. Select 
the appropriate signs and numbers from the given 
alternatives.

	 	 6 × 8 + 2 = 20
1.	 × and + , 6 and 2	 2.	+ and ×, 6 and 8
3.	 + and ×, 2 and 8	 4.	× and +, 2 and 6

	 19.	 Three statements are given followed by four conclusions 
I, II, III and IV. You have to consider these statements to 
be true, even if they seem at variance from commonly 
known facts. Decide which of the given conclusions 
logically follow/s from the given statement.

	 	 Statements:
	 I. 	  All parrots are crows.      II.  All crows are robins.
	 III. All robins are swan.
	 Conclusions:
	 I. 	  All parrots are swans.      II. All swans are crows.
	 III. All robins are parrots.     IV. All crows are swans.

1.	 Only conclusions II and III follow.
2.	 Only conclusions I and IV follow.
3.	 All the conclusion follow.
4.	 Only conclusions I and II follow.

	 20.	 Select the option in which the given figure is embedded. 
(Rotation is NOT allowed)

1.

	  

2.

  

3.

	 

4.

 
	 21.	 Two positions of a DICE are shown. What number must 

on the opposite face of 4?

2

1 5
1

4 5

(a) (b)
1.	 2	 2.	3	 3.	4	 4.	5

	 22.	 The following Venn diagram gives data regarding 
the sports team of ABC school. The ‘Circle’ represents 
‘Junior’ (Under 14 yrs); the ‘Triangle’ represents 
‘Swimmers’, the ‘Rectangle’ represents ‘Cyclists’ and the 
‘Square’ represents ‘Athletes’. The number given in the 
diagram represents number of persons of that particular 
category. How many Junior students are both Athletes 
and swimmers but not Cyclists?

12

10496

5 5

11
24 3

2

1.	 9	 2.	4	 3.	19	 4.	6
	 23.	 If each English alphabet is assigned even numerical 

value like A=2, B=4 and so on, what will be the code of 
EARTH?
1.	 122384216	 2.	102364016	 3.	102364018	 4.	102384218

	 24.	 Select the Venn Diagram that best represents the 
relationship between the following classes.

	 	 Male, Doctors, Singers

1.	 	 2.	

3.	 			   4.	

	 25.	 The sequence of folding a piece of paper and the manner 
in which the folded paper has been cut is shown in the 
following figures. How would this paper look when 
unfolded?

1.	 	 2.	 	 3.	 	 4.	

	 26.	 How many triangles are there in the given figure?

1.	 27	 2.	26	 3.	20	 4.	24
	 27.	 If + means –, – means ×, × means ÷, and ÷ means +, 

then what will be the value of following expression?
	 	 15 – 2 ÷ 90 × 9 + 10

1.	 32	 2.	40	 3.	30	 4.	50
	 28.	 Four pairs of letter-cluster have been given out of which 

three are alike in some manner, while one is different. 
Choose the odd one.
1.	 NVH - KUK			   2.	REA - ODD
3.	 CWX - AVZ			   4.	TXB - QWE

	 29.	 Select the option that will fill in the blank and complete 
the given series.

	 	 14, 17, 23, 32, 44, _____
1.	 59	 2.	54	 3.	69	 4.	56

	 30.	 Which of the option figures is the exact mirror image of 
the given problem figure when the mirror is held to the 
right side of the problem figure?

	 	 Problem Figure: Cc479LJyRST
1.	

Cc479LJyRST
		  2.	 Cc479LJyRST

3.	 Cc479LJyRST 		  4.	 Cc479LJy RS T
	 31.	 Select the word from the given options that is similar to 

the given words and hence belong to the same group.
	 	 Squeak : Quack : Cackle

1.	 Sound	 2.	Speak	 3.	Noise	 4.	Croak
	 32.	 Four words have been given out of which three are alike in 

some manner, while one is different. Choose the odd one.
1.	 Money	 2.	Lira	 3.	Rial	 4.	Dollar

	 33.	 Two statements are given followed by two conclusions I 
and II. You have to consider these statements to be true, 
even if they seem at variance from commonly known 
facts. Choose which of the given conclusions logically 
follow/s from the given statement.

	 Statements:
	 I. 	All chairs are wood.	 II. No wood is furniture.
	 Conclusions:
	 I. 	All chairs are furniture.
	 II. 	Some furniture are wood.

1.	 Only conclusion I follows.
2.	 Only conclusion II follows.
3.	 Both conclusions I and II follows.
4.	 Neither conclusion I nor II follows.
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 34. Four numbers have been given out of which three are 
alike in some manner, while one is different. Choose the 
odd one.
1. 91 2. 196 3. 169 4. 126

 35. Select the option that is related to the third term in the 
same way as the second term is related to the first term.

 7/50 : 9/82 :: 13/170 : ?
1. 225 2. 15/226 3. 15/225 4. 15/224

 36. Arrange the following words in the order in which they 
appear in an English dictionary.
1. General 2. Gender 3. Gasket 4. Genial
5. Gather
1. 5, 3, 2, 1, 4 2. 4, 3, 2, 1, 5 3. 3, 5, 2, 4, 1 4. 3, 5, 2, 1, 4

 37. From the given options, select the one in which the 
words are related to each other in the same way as the 
below given pair of words are related.
1. Rose : Red   2. Cup : Plate
3. Ladyfinger : Vegetable 4. State : Assam

 38. A, B, C, D, E, F, G and H are sitting around a circular table 
facing towards centre. H is on the immediate left of A but 
is not neighbour of D or E. F is on immediate right of B. C 
is between E and F, G is neighbour of E. Who is between 
A and B?
1. D 2. F 3. G 4. H

 39. Study the given pattern carefully and select the number 
that can replace the question mark (?) in it.

12 4 11 33
13 2 6 39
14 7 5 10
18 ? 2 9

1. 3 2. 5 3. 8 4. 4
 40. Select the option that is related to the third term in the 

same way as the second term is related to the first term.
 INSPIRE : JPVTNXL :: PERSIST : _____
1. QFVWNYA   2. QGUVMYA
3. QGUWNXZ   4. QGUWNYA

 41. Select the option that will fill in the blank and complete 
the given series.

 35, 52, 75, 110, 151, _____
1. 206 2. 210 3. 204 4. 218

 42. Four words have been given out of which three are alike in 
some manner, while one is different. Choose the odd one.
1. Cut 2. Knife 3. Scalpel 4. Chisel

 43. Select the option that is related to the fourth term in the 
same way as the first is related to the second term.

 NRGLEDGLLQ : MOTIVATION :: ? : DEMEANOURS
1. WHNHZQLXIV 2. WHNIYOLXIV
3. WHHNZLQXIV 4. WHMHZQLWIV

 44. If Y = 50, SEA = 50, then ‘YACHT’ will be equal to?
1. 100 2. 114 3. 104 4. 102

 45. Select the option in which the numbers share the same 
relationship as that shared by the given pair of numbers.

 72 : 108
1. 84 : 126 2. 90 : 136 3. 92 : 153 4. 36 : 57

 46. Select the option in which the numbers do NOT share 
the same relationship as that shared by the given pair of 
numbers.

 (23, 115, 207)
1. (16, 80, 144)   2. (21, 105, 189)
3. (8, 35, 72)   4. (6, 30, 54)

 47. Four numbers have been given out of which three are 
alike in some manner, while one is different. Choose the 
odd one.
1. 91 2. 73 3. 109 4. 61

 48. The two given expressions on either side of the ‘=’ sign 
will have the same value if two numbers on either side or 
on the same side are interchanged. Find from the given 
option the correct numbers to be interchanged.

 4 + 6 × 2 – 27 ÷ 3 = 8 × 2 – 4 + 9 ÷ 3
1. 6, 8 2. 6, 2 3. 4, 3 4. 2, 8

 49. In a code language, HONEY is written as G4M2X. How 
is STATUE written in that language?
1. RS1S5D 2. TS1S5D 3. RS1T5D 4. RS1S52

 50. Select the figure that will come next in the following 
figure series.

@$# ?@$# # @$ $# @

1. @$# 2. @ #$ 3. #$@ 4. #$@

General Knowledge and General Awareness

 51. A pillar containing inscriptions from three different 
periods, i.e. the Mauryan period, Gupta period and 
Mughal period, is located at:
1. Lauriya Nandangarh 2. Rummindei
3. Topra   4. Allahabad (Prayagraj)

 52. Which of the following Governor-Generals introduced 
a code which provided for the separation of revenue 
administration from judicial administration?
1. Lord Cornwallis 2. William Bentinck
3. Lord Wellesley  4. Warren Hastings

 53. Which of the following is NOT a fundamental right of 
Indian citizens?
1. Right to property
2. Right to constitutional remedies
3. Right to form association
4. Freedom of movement

 54. Which of the following bodies is primarily concerned 
with maintaining the integrity of the international 
financial system?
1. IMF 2. FATF 3. AIIB 4. ADB

 55. Batholiths are landforms created by:
1. Groundwater   2. Volcanic activities
3. Fluvial action   4. Glaciers

 56. Which of the following industries is NOT included in the 
‘Eight Core Industries’ of India?
1. Cotton   2. Fertilizers 
3. Steel   4. Natural Gas

 57. Which of the following planets is NOT a Jovian planet?
1. Saturn 2. Uranus 3. Mars 4. Jupiter

 58. Sportsperson Duryodhan Singh Negi is renowned for 
which sport?
1. Archery   2. Shooting
3. Lawn tennis   4. Boxing

 59. There is NO vaccine for which of the following hepatitis 
viruses?
1. Hepatitis D   2. Hepatitis A
3. Hepatitis B   4. Hepatitis C

 60. River Kabini is a tributary of the:
1. Mahanadi 2. Godavari 3. Krishna 4. Kaveri

 61. The _____ era is also known as the ‘age of mammals’.
1. Neozoic 2. Palaeozoic 3. Cenozoic 4. Mesozoic

 62. The 7th CISM Military World Games, 2019 were held in:
1. France 2. US 3. China 4. Malaysia
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	 63.	 Corundum is an ore of:
1.	 Aluminium	 2.	Silver	 3.	Copper	 4.	Iron

	 64.	 Sultan of Johor Cup is a tournament of which sport?
1.	 Football	 2.	Cricket	 3.	Hockey	 4.	Badminton

	 65.	 ‘Mysuru Peta’ is a traditional attire worn on the:
1.	 Wrist	 2.	Waist	 3.	Shoulder	 4.	Head

	 66.	 _____ was chosen as India’s official entry in the ‘Best 
International Feature Film’ category at the Oscars 2020?
1.	 Baba			   2.	Gully Boy
3.	 Andhadhun			   4.	Anandi Gopal

	 67.	 In the context of capital markets, the abbreviation ‘FPO’ 
stands for:
1.	 Free Public Offer	 2.	First Portfolio Operation
3.	 Follow-on Public Offer	 4.	First Public Offer

	 68.	 In the context of state and administration in the Delhi 
Sultanate, the term ‘muqti’ means:
1.	 A head of Gram Panchayat
2.	 A district level judicial official
3.	 The holder of a land assignment called ‘iqta’
4.	 The head of a village community

69.	In the context of trans-fats, which of the following 
statements is NOT correct?
1.	 They have a shorter shelf-life than natural fats.
2.	 Their consumption increases LDL cholesterol and 

decreases HDL cholesterol.
3.	 They are produced from the industrial process of 

hydrogenation.
4.	 WHO has called for their elimination by 2023.

	 70.	 Europa is a natural satellite of:
1.	 Uranus	 2.	Mars	 3.	 Jupiter	 4.	Saturn

	 71.	 Which of the following is NOT a noble gas?
1.	 Helium	 2.	Hydrogen	3.	Neon	 4.	Argon

	 72.	 Which of the following statements is NOT correct 
regarding the Constitution of India (Eighty-sixth 
Amendment) Act, 2002?
1.	 It made the provision for early childhood care and 

education to children below the age of six years under 
Article 45.

2.	 It made it binding for the Government of India to set 
up a nodal ministry to ensure effective implementation 
of these provisions under Article 75.

3.	 Providing opportunities for education to his child or 
ward between the age of 6 and 14 years’ was made 
a Fundamental Duty of a parent or guardian under 
Article 51A.

4.	 Free and compulsory education to all children of the age 
of 6 to 14 years in the manner as determine by the State’ 
was made a Fundamental Right under Article 21A.

	 73.	 The infrastructure development project with the aim 
of promoting ‘port-led development’ in India has been 
named:
1.	 Sagarmala			   2.	Sagarnaman
3.	 Bharatmala			   4.	Sagarmata

	 74.	 As per the interpretation by the Supreme Court of India, 
tapping of phone calls infracts the fundamental right 
provided in Article _____ of the Constitution.
1.	 21	 2.	25	 3.	24	 4.	22

	 75.	 Which of the following substances is used as a substitute 
for chlorine in bleaching?
1.	 Ethanal			   2.	Liquid carbon dioxide
3.	 Hydrogen peroxide	 4.	Tetra chloroethene

	 76.	 _____ has become the 65th Indian Grandmaster at the age 
of 13.
1.	 Prithu Gupta			   2.	Raunak Sadhwani
3.	 Rahul Vaid			   4.	R Praggnanandhaa

	 77.	 What did the term ‘shalabhoga’ stand for, with respect to 
revenue administration under the Imperial Cholas?
1.	 Land donated for the maintenance of a school
2.	 A newly settled village
3.	 Land donated to a warrior
4.	 Land donated for the maintenance of irrigation 

facilities
	 78.	 In the life cycle of a star, the stage nebula refers to:

1.	 The stage when the outer layers expand, cool down 
and become less bright

2.	 A cloud of dust and hydrogen
3.	 The last stage of its life
4.	 The outer shell of a star

	 79.	 Which of the following traditional dances is NOT a 
martial art form?
1.	 Chhau			   2.	Bhavai
3.	 Kalaripayattu			  4.	Lazim

	 80.	 How many members can be appointed in Rajya Sabha 
from Uttar Pradesh?
1.	 18	 2.	39	 3.	31	 4.	22

	 81.	 Surma River, also known as the Barak River, originates in 
the:
1.	 Manipur Hills			  2.	Patkai Boom Hills
3.	 Mizo Hills			   4.	Naga Hills

	 82.	 Who among the following has co-authored the book 
titled ‘Good Economics For Hard Times: Better Answers 
To Our Biggest Problems’?
1.	 Abhijit Banerjee	 2.	Amartya Sen
3.	 Raghuram Rajan	 4.	Kaushik Basu

	 83.	 Which movie won the ‘Best Film’ award at 20th IIFA 
Awards in 2019?
1.	 Dhadak	 2.	Sanju	 3.	Padmaavat	4.	Raazi

	 84.	 Which of the following ports is NOT located in Gujarat?
1.	 Sikka Port			   2.	Dighi Port
3.	 Okha Port			   4.	Mundra Port

	 85.	 Which of the following statements is true regarding 
disinflation?
1.	 A scenario when inflation is mainly due to inflation of 

only a few commodities and not of all commodities.
2.	 An overall decrease in prices over a specific period.
3.	 A decrease in the rate of inflation in a specific period.
4.	 A sudden sharp decrease in prices due to unexpected 

reasons.
	 86.	 Who started the Tamil weekly magazine ‘Kudi Arasu’?

1.	 C Natesa Mudaliar
2.	 Periyar EV Ramasamy
3.	 TM Nair
4.	 Chinnaswami Subramanya Bharathi

	 87.	 The ‘Saraswati Samman 2018’ has been conferred on the 
renowned poet:
1.	 Tishani Doshi			  2.	Meena Kandasamy
3.	 K Siva Reddy			  4.	Akhil Katyal

	 88.	 Part IV of the Constitution of India does NOT explicitly 
expect the State to secure:
1.	 Maternity leave for employed women
2.	 Equal pay for equal work
3.	 Adequate means of livelihood
4.	 No concentration of wealth and means of production

	 89.	 Tolkappiyar is a famous ancient grammarian of the _____ 
language.
1.	 Tamil	 2.	Kannada	 3.	Telugu	 4.	Oriya

	 90.	 Which of the following archaeological sites has evidence 
of pit-dwellings?
1.	 Rana Ghundai		 2.	Mehrgarh
3.	 Burzahom			   4.	Palavoy
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 91. Which of the following diseases has been eradicated 
worldwide?
1. Plague   2. Dracunculiasis
3. Chickenpox   4. Smallpox

 92. The novel titled ‘Quichotte’ is authored by:
1. Amit Chaudhuri 2. VS Naipaul
3. Sukumar Sen   4. Salman Rushdie

 93. Which state of India is given the popular name of ‘India’s 
bread-basket’?
1. Assam   2. Maharashtra
3. Uttar Pradesh   4. Punjab

 94. ‘Mahuri’ is a traditional musical instrument belonging to 
the state of:
1. Kerala   2. Arunachal Pradesh
3. Odisha   4. Himachal Pradesh

 95. In October 2019, RBI gave its approval to the Government 
of _____ to create a new bank by amalgamating the 
District Co-operative banks (DCBs) with its State Co-
operative Bank.
1. West Bengal   2. Kerala
3. Gujarat   4. Maharashtra

 96. ‘World Ozone Day’ is celebrated every year on September.
1. 8 2. 6 3. 12 4. 16

 97. In October 2019, who was appointed as the Executive 
Director for India on the board of the IMF?
1. Subir Gokarn   2. Amarjeet Sinha
3. Surjit S Bhalla   4. Asha Ram Sihag

 98. Which of the following territories was the first to be a 
part of India after independence?
1. Goa   2. Puducherry
3. Dadra and Nagar Haveli 4. Sikkim

 99. With regard to kidneys and its functions, which of the 
following statements is NOT correct?
1. They maintain water balance and expel metabolic waste.
2. Reptiles have relatively more nephrons than birds.
3. Their basic functional units are called nephrons.
4. Each nephron has two parts – the glomerulus and the 

renal tubule
100. Which of the following statements is NOT correct 

regarding the ‘Bombay blood group’?
1. It was first discovered in 1952 by Dr. Y M Bhende.
2. It is deficient in expressing H antigen.
3. It has neither A nor B antigen.
4. A person with this blood group may receive blood 

only from a person with O blood group.

Quantitative Aptitude

101. Study the given pie chart and answer the question that 
follows.

 Break-up (degree-wise) of the number of students in five 
schools (A, B, C, D and E) in a city.

E
A

B
C

D 64.8°

86.4°

79.2°

57.6°

72°

 Total number of students = 5200

 If the total number of students in school D and E exceeds 
the number of students in school A by x, then x lies 
between:
1. 500 and 525   2. 475 and 500
3. 525 and 550   4. 550 and 575

102. A circular park whose diameter is 210 m has a 5 m wide 
path running around it (on the outside). What is the area 
(in m2) of the path?
1. 1020p 2. 1075p 3. 1050p 4. 1100p

103. A kite is flying at a height of 123 m. The thread attached 
to it is assumed to be stretched straight and makes an 
angles of 60° with the level ground. The length of the 
string is (nearest to a whole number):
1. 142 m 2. 140 m 3. 139 m 4. 138 m

104. The average of ten numbers is 72. The average of the first 
four numbers is 69 and that of the next three numbers is 
74. The 8th number is 6 more than the 9th number and 12 
more than the 10th number. What is the average of the 8th

and 9th numbers?
1. 76 2. 76.5 3. 77 4. 77.5

105. A and B together can do a certain work in x days. 
Working alone, A and B can do the same work in (x + 
8) and (x + 18) days, respectively. A and B together will 

complete 
5
6

 of the same work in:

1. 12 days 2. 8 days 3. 10 days 4. 9 days
106. A solid metallic sphere of radius x cm is melted and then 

drawn into 126 cones each of radius 3.5 cm and height 3 
cm. There is no wastage of material in this process. What 
is the value of x?
1. 10.5 2. 3.5 3. 7 4. 21

107. Sujatha sold 75% of her goods at a profit of 24% and 
the remaining at a loss of 40%. What is her gain/loss 
percentage on the whole transaction?
1. 8% gain 2. 10% gain 3. 7.5% gain 4. 9% gain

108. A and B started travelling towards each other at the 
same time, from places X to Y and Y to X, respectively. 
After crossing each other, A and B took 2.45 hours and 
4.05 hours to reach Y and X, respectively. If the speed of 
B was 8.4 km/h, then what was the speed (in km/h) of A?
1. 10.8 2. 11.7 3. 12.6 4. 9.9

109. If (2x – 5y)3 – (2x + 5y)3 = y(Ax2 + By2), then what is the 
value of (2A – B)?
1. 25 2. 10 3. 15 4. 40

110. If 3 + cos2q = 3(cot2q + sin2q), 0° < q < 90°, then what is 
the value of (cosq + 2sinq)?

1. 
2 3 1

2
+

2. 3 2 3.
3 3 1

2
+

4.
3 2
2
+

111. The ratio of the incomes of A and B is 3 : 5, whereas the 
ratio of their expenditure is 4 : 7 respectively. If A and B 
save `16,000 and `26,000, respectively, then what is the 
difference (in `) between their expenditure?
1. 5400 2. 6800 3. 5000 4. 6000

112. Study the given pie chart and answer the question that 
follows.

 Break-up (degree-wise) of the number of students in five 
schools (A, B, C, D and E) in a city.

E
A

B
C

D 64.8°

86.4°

79.2°

57.6°

72°

 Total number of students = 5200
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	 	 If the ratio of the number of boys to that of girls in school 
B is 7 : 6 and the ratio of the number of boys to that of 
girls in school D is 4 : 5, then what is the ratio of the 
number of boys in B to that of girls in D?
1.	 12 : 13	 2.	13 : 12	 3.	14 : 13	 4.	13 : 14

	113.	 Study the given graph and answer the question that follows.

Revenue and Expenditure (in ` crores) 
of a company in five years

400
350
300
250
200
150
100
50
0

Years
2014

200
150

210
250

320
350

300

300
325

Revenue Expenditure

275

2015 2016 2017 2018

	 	 In how many years was the revenue of the company 
more than 1.2 times the average expenditure over the 
given five years?
1.	 4	 2.	2	 3.	1	 4.	3

114.	 Study the given graph and answer the question that 
follows.

Revenue and Expenditure (in ` crores) 
of a company in five years

400
350
300
250
200
150
100
50
0

Years
2014

200
150

210
250

320
350

300

300
325

Revenue Expenditure

275

2015 2016 2017 2018

	 	 What is the ratio of the total expenditure in 2015 and 
2016 to the total revenue of the company is 2016 and 
2018?
1.	 6 : 7	 2.	19 : 20	 3.	4 : 5	 4.	11 : 20

115.	 In DABC, ÐC = 90° and CD is perpendicular to AB to D. 
If AD/BD = k ,  then AC/BC = ?

1.	 k 	 2.	
1
k

	 3.	 k4 	 4.	k

116.	 A student was asked to find the value of

	 	
4
9

3
5

3
2

9
25

2
3

4
9

3 3
5

4
5

2
3

 












 

 











 of  of 

 3
4

5
6

 of 

	 	 His answer was 
2
9

.

	 	 What is the difference between his answer and the 
correct answer?

1.	
1

27
	 2.	 1

4
	 3.	

1
24

	 4.	
1
6

117.	 In a test consisting of 140 question, a candidate correctly 
answered 70% of the first 80 questions. What percentage 
of the remaining questions does the candidate need to 
correctly answer to score 60% in the test?

1.	 35%	 2.	 46
2
3

% 	 3.	 45
1
3

% 	 4.	40%

118.	 If x + y + z = 1, xy + yz + zx = – 26 and x3 + y3 – z3 = 151, 
then what will be the value of xyz?
1.	 – 18	 2.	32	 3.	24	 4.	– 30

119.	 What is the compound interest on a sum of `37,500 

for 1
1
3  

years at a rate of 12% p.a. if the interest is 

compounded 8-monthly?
1.	 `6,420	 2.	`6,448	 3.	`6,240	 4.	`6,440

120.	 If r is the remainder when each of 4749, 5601 and 7092 is 
divided by the greatest possible number d(>1), then the 
value of (d + r) will be:
1.	 276	 2.	282	 3.	298	 4.	271

121.	 A is 40% less than B, and C is 40% of the sum of A and B. 
The difference between A and B is what percentage of C?
1.	 64%	 2.	62.5%	 3.	60.5%	 4.	60%

122.	 Raghu sold an article for `180 after allowing a 20% 
discount on its marked price. Had he not allowed any 
discount, he would have gained 20%. What is the cost 
price of the article?
1.	 `187.50	 2.	`192.80	 3.	`188.60	 4.	`190.40

123.	 A can do 
4
5  

of a work in 20 days and B can do 
3
4  

of the 

same work in 15 days. They work together for 10 days. 
C alone completes the remaining work in 1 day. B and C 

together can complete 
3
4

 of the same work in:

1.	 6 days	 2.	8 days	 3.	5 days	 4.	4 days
124.	 The total surface area of a solid hemisphere is 1039.5 cm2. 

The volume (in cm2) of the hemisphere is: (Take p = 
22
7

)

1.	 2425.5	 2.	2530.6	 3.	2525.6	 4.	2225.5
125.	 Pipes P and Q can fill a tank in 18 and 27 minutes, 

respectively, whereas pipe R can empty the full tank in 
54 minutes. P and Q were opened together for 6 minutes 
and then closed and R was opened. The tank was 
emptied by R alone in:
1.	 35 minutes	 2.	45 minutes	3.	30 minutes	4.	40 minutes

126.	 A person invested a sum of `18,600 on x% p.a. 
and another sum that is twice the former at  
(x + 2)% p.a., both at simple interest. If the total interest 

earned on both investments for 3
1
2  

years is `23,11.50, 

then the rate of interest p.a. on the second investment is:
1.	 11%	 2.	12.5%	 3.	10.5%	 4.	13%

127.	 A, B and C enter into a partnership by investing their 

capitals in the ratio of 
2
5

3
4

5
8

: : .
 

After 4 months, A 

increased his capital by 50%, but B decreased his capital 
by 20%. What is the share of B in the total profit of 
`2,82,100 at the end of a year.
1.	 `83,200	 2.	`97,500	 3.	`1,01,400	 4.	`1,00,750

	128.	 Study the given graph and answer the question that follows.
Break-up age-wise (in years) of 

workers in a company

Age (in years)
20 24 28 32 36 40 44 48 52 56

24

80
75

70

85
90

75
65

100
90
80
70
60
50
40
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20
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0
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r 
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	 	 The number of workers whose age is 36 years or more 
but less than 48 years is what percentage more than 
the number of workers whose age if less than 28 years 
(correct to one decimal point)?
1.	 60.7%	 2.	61.2%	 3.	62.8%	 4.	59.4%

129.	 From a point 12 m above the water level, the angle 
of elevation of the top of a hill is 60° and the angle of 
depression of the base of the hill is 30°. What is the 
height (in m) of the hill?

1.	 48 3 	 2.	36	 3.	 36 3 	 4.	48
130.	 Study the given graph and answer the question that 

follows.
Break-up age-wise (in years) of 

workers in a company

Age (in years)
20 24 28 32 36 40 44 48 52 56

24

80
75

70

85
90

75
65

100
90
80
70
60
50
40
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20
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0

N
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r 

of
 W

or
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rs

	 	 The number of workers whose age is 32 years or more 
but less than 44 years is:
1.	 230	 2.	215	 3.	220	 4.	225

131.	 If a + b + c = 6 and a2 + b2 + c2 = 38, then what is the 
value of a(b2 + c2) + b(c2 + a2) + c(a2 + b2) + 3abc?
1.	 3	 2.	6	 3.	– 6	 4.	– 3

132.	 Study the given pie chart and answer the question that 
follows.

	 	 Break-up (degree-wise) of the number of students in five 
schools (A, B, C, D and E) in a city.

E
A

B
C

D 64.8°

86.4°

79.2°

57.6°

72°

	 	 Total number of students = 5200
	 	 The number of students in school C is what percentage 

more than the number of students in school B?
1.	 11%	 2.	10%	 3.	9.5%	 4.	7.2%

133.	 The volume of a solid right circular cone is 600 p cm3, and 
the diameter of its base is 30 cm. The total surface area (in 
cm2) of the cone is:
1.	 480 p	 2.	255 p	 3.	472 p	 4.	496 p

134.	 An article is sold for `680 after two successive discounts 
of 20% and x% on its marked price. The marked price of 
the article is `1,000. What is the value of x?
1.	 15	 2.	15.5	 3.	12.5	 4.	16

135.	 A train of length 212 m is running is 45 km/h. In what 
time (in seconds) will it cross a platform of length 188 m?
1.	 32	 2.	40	 3.	42	 4.	36

136.	 How many natural numbers less than 1000 are divisible 
by 5 or 7 but NOT by 35?
1.	 243	 2.	341	 3.	285	 4.	313

137.	 The total number of students in section A and B of a class 
is 72. The ratio of the number of students in A and B is 7 : 
5. The average weight (in kg) of the students in section B 
is 20% more than that of the students in section A. If the 
average weight of all the students in the class is 52 kg, 
then what is the average weight (in kg) of the students 
in section B?
1.	 57.6	 2.	57.9	 3.	56.4	 4.	58.2

138.	 A man spends 
2
3

rd
 
of his income. If his income increases 

by 14% and the expenditure increases by 20%, then the 
percentage increase in his savings will be
1.	 6%	 2.	2%	 3.	4%	 4.	1%

139.	 PT is a tangent at the point R on a circle with centre O. SQ is 
a diameter, which when produced meets the tangent PT at 
P. If ÐSPT = 32°, then what will be the measure of ÐQRP?
1.	 58°	 2.	30°	 3.	29°	 4.	32°

140.	 Three pipes A, B and C, can fill a cistern in 12, 18 and 24 
minutes, respectively. If all the pipes are opened together 
for 7 minutes, what will be the volume of the water that 
overflows as the percentage of the total volume of the 
cistern?

1.	 23
2
3

	 2.	 26
5

18
	 3.	 23

1
3

	 4.	 26
7
18

141.	 A field is in the shape of a trapezium whose parallel sides 
are 200 m and 400 m long, whereas each of other two 
sides is 260 m long. What is the area (in m2) of the field?
1.	 72000	 2.	52000	 3.	48000	 4.	60000

142.	 Let x be the least number of 4 digits that when divided 
by 2, 3, 4, 5, 6 and 7 leaves a remainder of 1 in each case. 
If x lies between 2000 and 2500, then what is the sum of 
the digits of x?
1.	 4	 2.	15	 3.	9	 4.	10

143.	 The value of 
0 6912 0 5292
0 6912 0 5292
. .
. .




 is:

1.	 15	 2.	1.5	 3.	0.9	 4.	9

144.	 What is the value of 
0 74 1 23 0 13

0 37 0 41 8 0 393 3 3
. . .

( . ) ( . ) ( . )
?

 
 

1.	 1	 2.	
−1
3

	 3.	 1
3

	 4.	–1

145.	 Study the given graph and answer the question that 
follows.

Revenue and Expenditure (in ` crores) 
of a company in five years

400
350
300
250
200
150
100
50
0

Years
2014

200
150

210
250

320
350

300

380
325

Revenue Expenditure
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2015 2016 2017 2018

	 	 Total expenditure of the company in 2016, 2017 and 2018 
is what percentage less than the total revenue in the 
given five years (correct to one decimal place)?
1.	 38.4%	 2.	36.8%	 3.	36.2%	 4.	34.5%

146.	 A line touches a circle of radius 6 cm. Another line is drawn 
which is tangent to the circle. If the two lines are parallel, 
then the distance between them is:
1.	 8 cm	 2.	12 cm	 3.	10 cm	 4.	6 cm
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147. The value of 
5 2 3 2 2 2 5 5 5

4 4 4 4 4 4 4
      
   
[ ( ) ]

( )of of 
 is

1. 3
3

16
2. 4

3
80

3.
2
5

4. 7
3
5

148. If tan(11 q) = cot(7 q), then what is the value of sin2(6 q) 
+ sec2(9 q) + cosec2(12 q)?

1. 
23
6

2. 35
12

3. 31
12

4. 43
12

149. Study the given graph and answer the question that 
follows.

Break-up age-wise (in years) of 
workers in a company

Age (in years)
20 24 28 32 36 40 44 48 52 56
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 What is the ratio of the number of workers in the 
company whose age is 28 years or more but less than 40 
years to the number of workers whose age is 40 years or 
more but less than 52 years?
1. 10 : 7 2. 23 : 21 3. 9 : 8 4. 7 : 6

150. DABC is an equilateral triangle in which D, E and F are 
the points on side BC, AC and AB, respectively, such that 
AD^BC, BE^AC and CF^AB. Which of the following is 
true?
1. 4AC2 = 5BE2   2. 3AC2 = 4BE2

3. 2AB2 = 3AD2   4. 7AB2 = 9AD2

English Comprehension

151. Select the most appropriate ANTONYM of the given 
word.

 OFFBEAT
1. conventional   2. unique
3. freaky   4. weird

152. In the sentence identify the segment which contains the 
grammatical error.

 With food granaries overflowing, the Government is 
looking to liquidate his grain stock to prevent damage.
1. to liquidate his grain stock
2. to prevent damage
3. the Government is looking
4. With food granaries overflowing

153. Select the most appropriate option to substitute the 
underlined segment in the given sentence. If there is no 
need to substitute it, select ‘No substitution’.

 You have finished your work, have you?
1. didn’t you   2. haven’t you
3. did you   4. No substitution

154. Select the most appropriate word to fill in the blank.
 _____ there were no buses, we had to take a taxi.
1. even if 2. hence 3. although 4. since

155. Select the most appropriate option to substitute the 
underlined segment in the given sentence. If there is no 
need to substitute it, select ‘No substitution’.

 He waits to you for about two hours.

1. has been waiting to you 2. has waiting for you
3. has been waiting for you 4. No substitution

156. Select the most appropriate synonym of the given word.
 COMPLACENT
1. discontent 2. smug 3. aggressive 4. amicable

157. Select the most appropriate synonym of the given word.
 TRIVIAL
1. meaningful 2. superficial 3. warm 4. essential

158. Select the most appropriate option to substitute the 
underlined segment in the given sentence. If there is no 
need to substitute it, select ‘No substitution’.

 I know the girl that sells flowers on the pavement.
1. who   2. what
3. which   4. No substitution

159. Select the most appropriate word to fill in the blank.
 Father didn’t believe _____ I said.
1. that 2. which 3. who 4. what

160. Select the most appropriate word which means the same 
as the group of words given.

 Two lengths of rope, bamboo or wood with rungs used 
for climbing up and down walls, sides of ships etc.
1. staircase 2. steps 3. bridge 4. ladder

161. Select the most appropriate word to fill in the blank.
 These apples _____ `100 per kg. Do you think they are 
expensive?
1. costs 2. has cost 3. is costing 4. cost

162. Select the most appropriate synonym of the given word.
 FATIGUE
1. earnestness   2. freshness
3. liveliness   4. weariness

163. Select the most appropriate ANTONYM of the given 
word.

 ERUDITE
1. scholarly   2. high-brow
3. savvy   4. ignorant

164. Select the most appropriate synonym of the given word.
 REDUNDANT
1. unnecessary   2. unparalleled
3. uninterested   4. unsuitable

165. Identify the segment in the sentence which contains the 
grammatical error. If there is no error, select ‘No error’

 The letter was posting yesterday by my brother.
1. No error   2. the letter
3. was posting yesterday 4. by my brother

166. Select the most appropriate meaning of the given idiom.
 At the drop of a hat
1. instantly 2. normally 3. frequently 4. usually

167. Select the most appropriate word to fill in the blank.
 The boy was leaning against the pillar _____ his hands 
_____ his pockets.
1. for; in   2. with; from 
3. for; into   4. with; in

168. Select the most appropriate option to substitute the 
underlined segment in the given sentence. If there is no 
need to substitute it, select ‘No substitution’.

 The mother is slept while the child was playing.
1. was slept   2. No substitution
3. was asleep   4. is asleep

169. Select the most appropriate meaning of the given idiom.
 Make a beeline for
1. make a line for honey 2. go straight to
3. stand in a queue 4. go for freebies
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170.	 In the sentence identify the segment which contains the 
grammatical error.

	 	 After two months the phone signals were back at the 
valley.
1.	 after two months	 2.	at the valley
3.	 were back			   4.	 the phone signals

171.	 Select the most appropriate word to fill in the blank.
	 	 If you _____ your book, I’d like to borrow it.

1.	 finished			   2.	have finished
3.	 will finish			   4.	 finish

172.	 Select the INCORRECTLY spelt word.
1.	 gadget	 2.	gaiety	 3.	galaxy	 4.	gallary

173.	 Select the most appropriate meaning of the given idiom.
	 	 Till the cows come home

1.	 for a small part	 2.	 for a long, long time
3.	 in the evening		 4. 	till the work is finished

174.	 Select the most appropriate word which means the same 
as the group of words given.

	 	 A list of the books referred to in a scholarly work
1.	 bibliography			   2.	bibliophile
3.	 holography			   4.	 calligraphy

175.	 Select the INCORRECTLY spelt word.
1.	 hinderence	 2.	hoarse	 3.	humour	 4.	homage

176.	 Select the INCORRECTLY spelt word.
1.	 despise	 2.	describe	 3.	desire	 4.	designe

177.	 Select the most appropriate meaning of the given idiom.
	 	 Touch and go

1.	 unimportant			   2.	undoubted
3.	 uncertain			   4.	unchanging

178.	 Select the most appropriate word which means the same 
as the group of words given.

	 	 To spend winter in a dormant state
1.	 convalesce	 2.	hoist	 3.	 connote	 4.	hibernate

179.	 Select the most appropriate word which means the same 
as the group of words given.

	 	 Not revealing one’s thoughts or feelings readily
1.	 forthright			   2.	 reticent
3.	 evaluative			   4.	 communicative

180.	 Select the INCORRECTLY spelt word.
1.	 audible	 2.	austere	 3.	authority	 4.	audiance

181.	 Select the most appropriate ANTONYM of the given word.
	 	 TENSE

1.	 relaxed	 2.	 strained	 3.	 stiff	 4.	close
182.	 In the sentence identify the segment which contains the 

grammatical error.
	 	 Saurav Ganguly have emerged as the new President of 

the BCCI after a night long discussion.
1.	 of the BCCI
2.	 as the new President
3.	 Saurav Ganguly have emerged
4.	 after a night long discussion

183.	 Select the most appropriate option to substitute the 
underlined segment in the given sentence. If there is no 
need to substitute it, select ‘No substitution’.

	 	 When we arrived at Jhansi station, we are keeping our 
luggages in the cloak room.
1.	 No substitution	 2.	are keeping our luggage
3.	 kept our luggages	 4.	kept our luggage

184.	 Identify the segment in the sentence which contains the 
grammatical error. If there is no error, select ‘No error’

	 	 Anita enjoyed to swim in the sea.
1.	 Anita enjoyed			  2.	 in the sea
3.	 No error			   4.	 to swim

185.	 Select the most appropriate word which means the same 
as the group of words given.

	 	 To prepare written material for publication by correcting 
or modifying it
1.	 crop			   2.	 summarise	
3.	 edit			   4.	abridge

Comprehension:
Read the following passage and answer the questions given 
after it.
Standing in ankle-deep water engulfing his field, Kamal 
Singh Dhangar takes a wild shot at the likely yield from the 
soyabean crop that practically lies in ruins behind him.
“One bag, two bags with difficulty,” notes the 58-year old 
with a wry smile, minutes after a fresh spell of rains has 
lashed Guradiya Sirajuddin village in Ashta tehsil of Madhya 
Pradesh’s (MP) Sehore district. While the same three-acre plot 
had given nearly 16 quintals of soyabean last year, Dhangar 
this time isn’t sure he can even afford labourers to harvest the 
negligible produce staring in his face.
He draws solace only from his not being alone. Most farmers 
in Guradiya Sirajuddin as well as neighbouring villages 
have reported widespread damage to their already matured 
standing crop.
Gulab Singh, who owns 10 acres not far from Dhangar’s field, 
is ruing his decision to have taken an additional six acres of 
land on lease for cultivating soyabean and wheat this year. 
“I have paid the owner ` 1.5 lakh. By now, this soyabean 
crop should have been ready for taking to Ashta mandi 
(agriculture produce market at the tehsil town, about 10 km 
away). But my expensive pursuit has proved costly,” remarks 
the 60-year-old, who, too, cannot enter his field without 
wading through water almost touching the knees.
Seated at the edge of his flooded field a few hundred meters 
away, Dev Singh, a sprightly octogenarian, cannot remember 
the year when the monsoon rains caused such late-stage 
havoc. “I may have been this big,” he says, pointing to a man 
many decades younger to him. Western MP, in which Sehore 
falls, has received 1,335.4 mm of average rainfall from 1 June 
1 to 25 September, 58% more than the region’s historical 
normal of 845.3 mm for this period.
However, the real story lies in the month-wise figures. In 
June, the opening month of the southwest monsoon season, 
the rains were actually 25.6% below the long-period average. 
In July, they were 31.2% above average. That surplus rose 
to 63.6% in August, while a whopping 158% more so far till 
September, confirming Dev Singh’s observation. Worse, there’s 
little respite, with more rains predicted over the next few days.
The monsoon has taken its toll mainly on soyabean. 
According to the Union agriculture ministry’s data, a total 
area of 113.449 lakh hectares (lh) has been planted under this 
leguminous oilseed in the current kharif season, with the 
bulk of it accounted for by MP (55.16 lh), Maharashtra (39.595 
lh) and Rajasthan (10.608 lh). Within MP, the main soyabean- 
growing districts are Ujjain, Dewas, Indore, Dhar, Ratlam, 
Mandsaur, Rajgarh, Shajapur, Sehore and Vidisha. The crop 
in low-lying areas is the one that has been worst affected.
“Farmers who had sown early-maturity (80-90 days duration) 
varieties such as JS 9560 and JS 2034 just after mid-June will 
take the biggest hit. Their crop would already have matured; 
the longer it remains in the field, the more the chances of the 
grain rotting. Also, these farmers will not be able to save this 
grain for using as seed next year,” admits V S Bhatia, director 
of the Indian Institute of Soyabean Research at Indore.
186.	 In Western MP where Sehore is situated what is the 

normal average rainfall from June to September?
1.	 845.3 mm	 2.	113.4 mm	 3.	158 mm	 4.	1,335.4 mm

187.	 Who among the following took on 6 acres of land for 
soyabean cultivation in addition to his original 10 acres 
of land?
1.	 Gulab Singh			   2.	Dev Singh
3.	 Vijay Singh		  	 4.	Kamal Singh
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188.	 What problem are the farmers of Sehore District in MP 
facing?
1.	 The excessive rain has damaged the soyabean crop.
2.	 They cannot make seeds from their crop.
3.	 The soyabean yield has diminished.
4.	 They cannot take their produce to the market.

189.	 Match the words with their meaning.
	 	 Words Meanings
	 	 a.	 havoc 	 1. undertaking
	 	 b.	 pursuit 	 2. submerge
	 	 c.	 engulf 	 3. calamity

1.	 a-3, b-1, c-2			   2.	a-2, b-1, c-3
3.	 a-1, b-3, c-2			   4.	a-2, b-3, c-1

190.	 Which of the following statements is NOT true according 
to the passage?
1.	 In July-August the actual rainfall was 25.6% below the 

long-period average.
2.	 By September, the soyabean crop should have been 

ready for taking to Ashta mandi.
3.	 From 1 June to 25 September, 58% more rainfall was 

recorded than the region’s historical normal.
4.	 The three-acre plot of Kamal Singh had given nearly 

16 quintals of soyabean in the past year.

191.	 Select the INCORRECTLY spelt word.
1.	 ecsentricity	 2.	echelon	 3.	eclipse	 4.	economy

192.	 Select the most appropriate ANTONYM of the given word.
	 	 WANE

1.	 fall	 2.	 increase	 3.	abate	 4.	dwindle
Comprehension:
In the following passage some words have been deleted. Fill 
in the blanks with the help of the alternatives given. Select 
the most appropriate option for each blank.

Central Park Tower has just become the tallest residential 
building in the world. The views (1)_____ this building are 
amazing. The (2)_____ of apartments in this skyscraper are 
(3)_____ as the sky. The cheapest apartment (4)_____ at $6.7 
million, and the most (5)_____ five-bedroom apartment costs 
$63 million.
193.	 Select the most appropriate option to fill in blank No.1.

1.	 up	 2.	above	 3.	 from	 4.	on
194.	 Select the most appropriate option to fill in blank No.2.

1.	 prices	 2.	values	 3.	bills	 4.	amounts
195.	 Select the most appropriate option to fill in blank No. 3.

1.	 as high	 2.	higher	 3.	highest	 4.	high
196.	 Select the most appropriate option to fill in blank No.4.

1.	 starts	 2.	 is starting	 3.	 start	 4.	started
197.	 Select the most appropriate option to fill in blank No.5.

1.	 economical	 2.	excessive	 3.	expensive	 4.	extreme
198.	 Select the most appropriate meaning of the given idiom.
	 	 Bed of roses

1.	 a state of perplexity	
2.	 an unforgettable moment
3.	 an enjoyable state
4.	 a difficult situation

199.	 Select the most appropriate synonym of the given word.
	 	 SCANTY

1.	 adequate	 2.	plentiful	 3.	enough	 4.	meager
200.	 Select the most appropriate ANTONYM of the given 

word.
	 	 FUTILE

1.	 productive	 2.	hollow	 3.	barren	 4.	worthless

Answer Key 
1. (1) 2. (1) 3. (1) 4. (3) 5. (2) 6. (3) 7. (3) 8. (3) 9. (3) 10. (4)

11. (4) 12. (4) 13. (1) 14. (2) 15. (4) 16. (3) 17. (3) 18. (2) 19. (2) 20. (4)
21. (1) 22. (1) 23. (2) 24. (2) 25. (1) 26. (2) 27. (3) 28. (3) 29. (1) 30. (2)
31. (4) 32. (1) 33. (3) 34. (3) 35. (2) 36. (4) 37. (3) 38. (1) 39. (4) 40. (4)
41. (3) 42. (1) 43. (1) 44. (2) 45. (1) 46. (3) 47. (1) 48. (1) 49. (4) 50. (1)
51. (4) 52. (1) 53. (1) 54. (2) 55. (2) 56. (1) 57. (3) 58. (4) 59. (4) 60. (4)
61. (3) 62. (3) 63. (1) 64. (3) 65. (4) 66. (2) 67. (3) 68. (3) 69. (1) 70. (3)
71. (2) 72. (2) 73. (1) 74. (1) 75. (3) 76. (2) 77. (1) 78. (2) 79. (2) 80. (3)
81. (1) 82. (1) 83. (4) 84. (2) 85. (3) 86. (2) 87. (3) 88. (1) 89. (1) 90. (3)
91. (4) 92. (4) 93. (4) 94. (3) 95. (2) 96. (4) 97. (3) 98. (3) 99. (2) 100. (4)

101. (1) 102. (2) 103. (1) 104. (3) 105. (3) 106. (1) 107. (1) 108. (1) 109. (2) 110. (1)
111. (4) 112. (3) 113. (2) 114. (3) 115. (3) 116. (1) 117. (2) 118. (3) 119. (3) 120. (1)
121. (2) 122. (1) 123. (3) 124. (1) 125. (3) 126. (2) 127. (3) 128. (1) 129. (4) 130. (1)
131. (3) 132. (2) 133. (1) 134. (1) 135. (1) 136. (3) 137. (1) 138. (2) 139. (3) 140. (4)
141. (1) 142. (1) 143. (1) 144. (2) 145. (4) 146. (2) 147. (2) 148. (4) 149. (4) 150. (2)
151. (1) 152. (1) 153. (2) 154. (4) 155. (3) 156. (2) 157. (2) 158. (1) 159. (4) 160. (4)
161. (4) 162. (4) 163. (4) 164. (1) 165. (3) 166. (1) 167. (4) 168. (3) 169. (2) 170. (2)
171. (2) 172. (4) 173. (2) 174. (1) 175. (1) 176. (4) 177. (3) 178. (4) 179. (2) 180. (4)
181. (1) 182. (3) 183. (4) 184. (4) 185. (3) 186. (4) 187. (1) 188. (1) 189. (1) 190. (1)
191. (1) 192. (2) 193. (3) 194. (1) 195. (1) 196. (1) 197. (3) 198. (3) 199. (4) 200. (1)

Answers with Explanations
	 1.	 Option (1) is correct.
	 The pattern is as follows:
	 	Option 2: Three numbers 1, 8, 9 are used to make three numbers.
	 	Option 3: Three numbers are used to make all the 

numbers viz. 1, 6, and 7.

	 	Option 4: We have three numbers 1, 4 and 6 to make all 
the three-digit numbers.

	 	Option 1: Three different numbers are used to make all 
numbers and thus is the odd one out.

	 	Hence, 236 : 325 : 263 is the correct answer.
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	 2.	 Option (1) is correct.
	 The pattern is given below:

	 	The rectangle is rotating anticlockwise 90° and the 
triangle is also rotating by 180°.

	 3.	 Option (1) is correct.
	 	The given code is as follows:
	 	 W	 K	 L	 N	 O	 E	 D	 G
	 	 B	 H	 U	 A	 M	 R	 G	 E
	 	Therefore, KNOWLEDGE will be written as HAMBURGER.
	 	Hence, HAMBURGER is the correct answer.
	 4.	 Option (3) is correct.
	 	When we place the mirror on the right side, then the 

elements which appear on the left side will appear on 
the right side and the elements which appear on the 
right side will appear on the left side and the position of 
the elements will also be changed from left to right.

	 5.	 Option (2) is correct.
	 	Both cotton and jute are types of Fibres. Therefore, they 

both will come inside the fibre.

Cotton Jute

Fibre

	 6.	 Option (3) is correct.
	 The pattern is as follows:
	 	 E	 Y	 U	 O	 K	 ?(E)	 A
	 		  –6	 –4	 –6	 –4	 –6	  –4
	 	Hence, E is the correct answer.
	 7.	 Option (3) is correct.
	 	The pattern is that except 7 : 50 all other numbers are 

divisible, 50 is not divisible by 7.
	 	Hence, 7 : 50 is the correct answer. 
	 8.	 Option (3) is correct.
	 	The question figure is shown and shows how it is 

embedded in the given figure.

	 9.	 Option (3) is correct.
	 	House is made of Bricks.
	 	Similarly, Twig is a thin woody part which birds use to 

make nests.
	 	Hence, nests is the correct answer.
	 10.	 Option (4) is correct.
	 	The logical arrangement of words will be the process of 

a plant. First, we will arrange a seed and then it sprouts 
followed by seed sapling and then it will form into a 
plant and then a plant will transform into a tree.

	 	Seed → Sprout → Sapling → Plant → tree
	 	Hence, 2, 3, 5, 1, 4 is the correct answer.

	 11.	 Option (4) is correct.
	 The pattern is as follows:
	 	 4	 11	 30	 67	  128	 219	 346	 515	 732
	 		  7	 19	 37	 61	 91	 127	 169	217
	 		  12	 18	 24	 30	 36	 42	 48
	 		  6	 6	 6	 6	 6	 6
	 	From the above series, both the numbers of the brackets 

are correct.
	 12.	 Option (4) is correct.
	 The pattern is as follows:
	 Option 1: 	 T	 V			   X		  Z
	 			   +2			   +2		  +2
	 Option 2: 	 I	 K			   M		  O
	 			   +2			   +2		  +2
	 Option 3: 	 C	 E			   G		  I
	 			   +2			   +2		  +2
	 Option 4: 	 O	 Q			   R		  T
	 			   +2			   +1		  +2
	 	Hence, OQRT is the correct answer.
	 13.	 Option (1) is correct.
	 	Given that Moisten is related to Drench in the same way, 

Prick is related to stab.
	 	Hence, Stab is the correct answer.
	 14.	 Option (2) is correct.
	 The pattern is as follows:

@ @ @$ @ $ @

	 	The first element is moved to the last element and 
then the last element is deleted and the new element is 
inserted.

	 15.	 Option (4) is correct.
	 	The pattern is 121 : 145 → 112 : 122 + 1
	 49 : 65 → 72 : 82 + 1
	 169 : ? → 132 : 142 + 1
	 Therefore, 196 + 1 = 197.
	 	Hence, 197 is the correct answer.
	 16.	 Option (3) is correct.
	 	From the above diagram, Richa is 30 

m north from her home.
	 	Hence, 30 m north is the correct 

answer.
	 17.	 Option (3) is correct.
	 The pattern is as follows:
	 		 D	 +3	 G	 +3	 J	 +3	 M	 +3	 P
	 	 X	 –5	 S	 –5	 N	 –5	 I	 –5	 D
	 	 B	 +7	 I	 +7	 P	 +7	 W	 +7	 D
	 	Hence, PDD is the correct answer. 
	 18.	 Option (2) is correct.
	 	Using option 2, we get,
	 On interchanging + and ×, 6 and 2 
	 6 × 8 + 2
	 8 + 6 × 2 = 20
	 Therefore, LHS = RHS.
	 19.	 Option (2) is correct.
	 	Draw the Venn diagram.

Swan Robins Crows Parrots

	 	From the above Venn diagram, only conclusion I and IV 
follows.

	 20.	 Option (4) is correct.
	 	The given question figure is shown and 

shows how it is embedded.

20 m

30 m

120

30

90
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	 21.	 Option (1) is correct.
	 	We know that 1 and 5 are adjacent to 4 and thus cannot 

be the opposite to 4.
	 	Therefore, 2 is the opposite of 4.
	 	Hence, 2 is the correct answer.
	 22.	 Option (1) is correct.
	 	The highlighted area shows those Junior students which 

are both athletes and swimmers but not cyclists. 

12

6 4 10

2
3

11

4 2
5 5

9

	 	Hence, 9 is the correct answer.
	 23.	 Option (2) is correct.
	 	The pattern is multiplying the numerical value of 

alphabets by 2.
	 	 E	 A	 R	 T	 H
	 	 5	 1	 18	 20	 8
	 	 5 × 2 = 10	  1 × 2 = 2	   18 × 2 = 36	  20 × 2 = 40	 8 × 2 = 16
	 	Hence, 102364016 is the correct answer.
	 24.	 Option (2) is correct.
	 	We know that some males are doctors and some male 

doctors can be singers as well so we need an area which 
is a part of all the three.

Doctor

Singer

Male

	 25.	 Option (1) is correct.
	 	The process of unfolding is shown below.

	 26.	 Option (2) is correct.
	 	We know that when a triangle has 1 perpendicular, then 

we have 3 triangles and we have such 8 such triangles. 
Now, we have total 8 × 3 = 24. And there are 2 more 
triangles (GBH and GEH). So, we have 26 triangles.

J

BA C

D

G H
I

K L

M

N

O

E F

	 	Hence, 26 is the correct answer.
	 27.	 Option (3) is correct.
	 	Given 15 – 2 ÷ 90 × 9 + 10
	 	On applying the signs we get,
	 	15 × 2 + 90 ÷ 9 – 10 = 30 + 10 – 10 = 30
	 	Hence, 30 is the correct answer.

	 28.	 Option (3) is correct.
	 The pattern is as follows:
	 Option1: 	 N	 V	 H
	 		  –3	 –1	 +3
	 		  K	 U	 K

	 Option 2: 	 R 	 E	 A
	 		  –3	 –1	 +3
	 		  O	 D	 D
	 Option 3: 	 C	 W	 X
	 		  –2	 –1	 +2
	 		  A	 V	 Z
	 Option 4: 	 T	 X	 B
	 		  –3	 –1	 +3
	 		  Q	 W	 E
	 	Hence, CWX-AVZ is the correct answer.

	 29.	 Option (1) is correct.
	 The pattern is as follows:

	 14	 17	 23	 32	 44	 59
		  3	 6	 9	 12	 15

	 	Hence, 59 is the correct answer.
	 30.	 Option (2) is correct.
	 	When we place the mirror at the right place, then objects 

which appear on the left will appear on the right and 
objects which appear on the left will appear on the right 
and the position of the object will also be changed.

Cc479LJyRST Cc479LJyRST

	 31.	 Option (4) is correct.
	 	Squeak is a short high-pitched sound or cry and Quack 

is a hard sound made by a duck so squeak: quack.
	 Similarly, cackle is to laugh in a loud, harsh way.
	 	and croak is a deep sound made by a frog or a cow.
	 So, cackle: croak.
	 	Hence, Cackle: Croak is the correct answer.

	 32.	 Option (1) is correct.
	 	Lira, Rial, Dollar are the currencies of different countries 

while Money is not a currency.
	 	Hence, Money is the correct answer.

	 33.	 Option (3) is correct.

Wood Chair
Furniture

	 	From the above diagram, neither conclusion I nor II 
follows.

	 34.	 Option (3) is correct.
	 	Except 169 all other options are divisible by 7, 169 is not 

divisible by 7.
	 	Hence, 169 is the correct answer.
	 35.	 Option (2) is correct.
	 	The pattern is 72 + 1 = 50, 92 + 1 = 82 : 132 + 1 = 170.
	 	 Similarly, 152 + 1 = 226.
	 	Hence, 15/226 is the correct answer.
	 36.	 Option (4) is correct.
	 	Since G is the same in all the words and now, we will 

check other letters which are e, a. We know that a 
comes before e but a is the same in 2 words, so then 
we will check another letter of those words which are 
having a the same. Those letters are s, t and we know 
s comes before t and thus will be the first word of the 
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arrangement and t having 3rd letter will be the 2nd word 
of the arrangement. So, Gasket, Gather. Now, we will 
check those words having Ge same; now check the next 
letter of those which are having 2nd letter e which are n, 
n, s, n. We know that n comes before s but again we have 
n the same. Now we will check the next letter of those 
words having n the same which are e, d, i. We also know 
that d comes before e and i so the 3rd word will Gender 
and so on.

	 	Hence, 3, 5, 2, 1, 4 is the arrangement according to the 
English dictionary.

	 37.	 Option (3) is correct.
	 	As apple is related to a fruit which means that an apple 

is considered a fruit. In the same way, ladyfinger is 
considered a vegetable.

	 	Hence, ladyfinger: vegetable is the correct answer.
	 38.	 Option (1) is correct.
	 	First, we draw circular arrangement 

A

B

C

D

E

F

G

H

	 	Form the circular arrangement, D is between A and B.
	 	Hence, D is the correct answer.
	 39.	 Option (4) is correct.
	 	The pattern is that 1st number ÷ 2nd number × 3rd 

number = 4th number.
	 	Row 1: 12 ÷ 4 × 11 = 33
	 	Row 2: 13 ÷ 2 × 6 = 39
	 	Row 3: 14 ÷ 7 × 2 = 10
	 	Row 4: 18 ÷ 4 × 2 = 9
	 	Hence, 4 is the correct answer.
	 40.	 Option (4) is correct.
	 The pattern is
	 	 I	 N	 S	 P	 I	 R	 E
	 	 +1	 +2	 +3	 +4	 +5	 +6	 +7
	 	 J	 P	 V	 T	 N	 X	 L
	 Similarly,
	 	 P	 E	 R	 S	 I 	 S 	 T
	 	 +1	 +2	  +3	 +4	 +5	 +6	 +7
	 	 Q	 G	 U	 W	 N	 Y	 A
	 	Hence, QGUWNYA is the correct answer.
	 41.	 Option (3) is correct.
	 The pattern is 
	 	 35	 52	 75	 110	 151	 (204) ?
	 		  17	 23	 35	 41	 53
	 		  6	 12	 6	 12
	 	Hence, 204 is the correct answer.
	 42.	 Option (1) is correct.
	 	Knife, chisel and scalpel are sharp instruments used to 

cut something whereas, cut is to make an opening with 
a tool or an instrument.

	 	Hence, Cut is the odd one and is the correct answer.
	 43.	 Option (1) is correct.
	 	The pattern is that opposite letter of each letter and -3 

alternatively.

	 N opposite letter M,  G opposite letter T, E opposite 
Letter V,   G opposite letter T,   L opposite letter O.

	 	 R	 L	 D	 L	 Q
	 	 -3	 -3	 -3	 -3	 -3 
	 	 O	 I	 A	 I	 N
	 Similarly,
	 	W opposite letter D,  N opposite letter M,  Z opposite 

letter A,  L opposite letter O,  I opposite letter R.
	 	 H	 H	 Q	 X	 V
	 	 -3	 -3	 -3	 -3	 -3
	 	 E	 E	 N	 U	 S
	 	Hence, WHNHZQLXIV is the correct answer.
	 44.	 Option (2) is correct.
	 	The pattern is the sum of the numerical value in alphabet 

× 2, Y = 50 and SEA = 50.
	 Y = 25 => y = 25 × 2 = 50
	 SEA = 19 + 5 + 1 = 25 × 2 = 50.
	 	Therefore, YACHT = 25 + 1 + 3 + 8 + 20 = 57 × 2 = 114 
	 	Hence, 114 is the correct answer.
	 45.	 Option (1) is correct.
	 	The pattern is 6 × 12 = 72 and 6 × 18 = 108
	 Similarly, 7 × 12 = 84 and 7 × 18 = 126
	 	Hence, 84 : 126 is the correct answer.
	 46.	 Option (3) is correct.
	 	The pattern is 23 × 5 = 115 and 23 × 9 = 207.
	 Option 1: 16 × 5 = 80 and 16 × 9 = 144.
	 Option 2: 21 × 5 = 105 and 21 × 9 = 189
	 Option 3: 8 × 5 = 40 not 35 and 8 × 9 = 72 
	 Option 4: 6 × 5 = 30 and 6 × 9 = 54
	 	Hence, (8, 35, 72) is the correct answer.
	 47.	 Option (1) is correct.
	 	Except 91 all other are prime numbers as 91 is divisible 

by 13 and 7.
	 	Hence,  91 is the correct answer.
	 48.	 Option (1) is correct.
	 	Using option 1, we get on interchanging 6 and 8
	 4 + 8 × 2 – 27 ÷ 3 = 6 × 2 – 4 + 9 ÷ 3
	 Þ 4 + 16 – 9 = 12 – 4 + 3 Þ 20 – 9 = 15 – 4 Þ 11 = 11
	 Therefore, LHS = RHS.
	 49.	 Option (4) is correct.
	 The pattern is
	 	 H	 O	 N	 E	 Y
	 -1	Vowel position	 –1	 Vowel position	 –1
	 	 G	 4	 M	 2	 X
	 	 A	 E	 I	 O	 U
	 	 1	 2	 3	 4	 5
	 Therefore,
	 	 S	 T	 A	 T	 U	 E
	 	 –1	 –1	 Vowel 	 –1	 Vowel	 Vowel
	 			   position		   position	  position 
	 	 R	 S	 1	 S	 5	 2
	 	Hence, RS1S52 is the correct answer.
	 50.	 Option (1) is correct.
	 	The pattern is that each element is moved to its adjacent 

right position.

@$ @ $ @ $ @$ @ $

	 	@ holds its first place and then moved to the 2nd place 
and then 3rd followed by 4th position Similarly, others are 
following the same pattern.

	 51.	 Option (4) is correct.
	 	At Allahabad, there is a pillar with inscriptions from 

three different periods, namely the Mauryan, Gupta, 
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and Mughal periods (Prayagraj). The Allahabad 
inscription, or Prayag Prasasti, was written by Samudra 
Gupta’s court poet and Minister Harisena. The pillar was 
an Ashok Pillar, built six centuries before him by Ashok. 
Sandstone was used to make the pillar. It was completed 
in the third century BCE and stands 35 feet tall.

	 52.	 Option (1) is correct.
	 	The Governor-General, Lord Cornwallis, instituted the 

Cornwallis Code in 1793. Cornwallis gave legal form to 
complex measures that comprised the administrative 
framework known as the Cornwallis, or Bengal, system 
in British India. Wellesley, Lord From 1798 to 1805, 
Richard Colley Wellesley (Lord Wellesley) served as 
Governor-General of India. Lord Cornwallis was  the 
first English nobleman to arrive in India to serve as 
governor-general. He was India’s first parliamentary 
governor-general. He was India’s first governor-
general to die. Hastings, Warren Hastings was an 
English statesman who served as the first governor of 
Fort William. He was the Supreme Council of Bengal’s 
chairman. He was a British statesman and soldier. From 
1828 to 1835, he was the Governor-General of India.

	 53.	 Option (1) is correct.
	 	Right to Property is the correct answer. Property 

ownership is not a fundamental right. With the 44th 
Constitution Amendment in 1978, the property right 
ceased to be a fundamental right; however, it was made 
a constitutional right under Article 300A. There are six 
fundamental rights: Equality of Opportunity (Article 14-
18) The Right to Liberty (Article 19-22). Article 19(1)(a) 
states that all citizens have the right to free speech and 
expression. Article 21 of India’s constitution establishes 
the “right to life and personal liberty” as a fundamental 
right. Opposition to Exploitation (Article 23-24) The 
Right to Religious Freedom (Article 25-28) Rights to 
Culture and Education (Article 29-30) The Right to 
Constitutional Redress (Article 32)

	 54.	 Option (2) is correct.
	 	FATF’s primary concern is the integrity of the 

international financial system. The FATF (Financial 
Action Task Force) is an intergovernmental organization 
founded in 1989 on the initiative of the G-7 to develop 
anti-money laundering policies. The FATF’s goals are to 
set standards and promote the effective implementation 
of legal, regulatory, and operational measures to combat 
money laundering, terrorist financing, and other threats 
to the international financial system’s integrity.

	 55.	 Option (2) is correct.
	 	A batholith is a large body of igneous rock formed 

beneath the Earth’s surface as a result of magma intrusion 
and solidification. They only appear on the surface after 
denudational processes have removed the overlying 
materials. These are granitic bodies formed by the cooling 
of magma chambers. Lacoliths are large dome-shaped 
intrusive bodies with a level base and a pipe-like channel 
connecting them from below. Phcaoliths are elongated 
domes of intrusive igneous rock typically found beneath 
the crest of an anticline or the trough of a syncline. The 
near-horizontal bodies of intrusive igneous rocks are 
known as sills or sheets, depending on their thickness. 
The thinner ones are called sheets, while the thicker 
horizontal deposits are called sills.

	 56.	 Option (1) is correct.
	 	Electricity, steel, refinery products, crude oil, coal, 

cement, natural gas, and fertilizers are India’s eight core 
industries. Cotton industries have yet to be included in 
India’s core industries. It includes the index, output, and 
growth of the Eight Core Industries. The Index of Eight 
Core Industries is a monthly production index that is 
also used to forecast monthly industrial performance. 

The Index of Eight Core Industries is compiled using 
monthly production data from the Source Agencies.

	 57.	 Option (3) is correct.
	 	Mars is not a Jupiter-like planet. The Jovian planets 

are planets that are mostly made up of gases and have 
no solid surface. Because of their size, they are mostly 
made up of hydrogen and helium gases. Jupiter, Uranus, 
Saturn, and Neptune are the Jovian planets. These 
planets are significantly larger than terrestrial planets.

	 58.	 Option (4) is correct.
	 	Duryodhan Singh Negi is a well-known boxer. He 

competed in the World Boxing Championship for the 
first time. Negi was defeated in the second round by 
Jordan’s Zeyad Eashash. He had previously won a silver 
medal (69kg) at the Commonwealth Games.

	 59.	 Option (4) is correct.
	 	The main reason there is no vaccine for hepatitis C is 

because this virus has many strains, called genotypes, 
and many subtypes. It is a disease that causes liver 
inflammation and infection. This condition occurs after 
being infected with the Hepatitis C virus. It can be both 
acute and chronic. Hepatitis is a viral infection that 
causes inflammation of the liver. Hepatitis B, C, and 
D are acute infections, whereas Hepatitis A and E are 
chronic infections. Agent of Cause Hepatitis A, B, C, and 
D viruses are all examples of hepatitis viruses. Mode 
of Acquisition As a result of consuming tainted food 
and water (Hepatitis A). Contact with infectious fluids 
such as blood, sperm, or vaginal secretions (Hepatitis 
B, C, and D). Using contaminated water (Hepatitis 
E). Symptoms of Liver Disease In the case of chronic 
infections, symptoms emerge gradually.

	 60.	 Option (4) is correct.
	 	The Kabini River is a tributary of the Kaveri. It is also 

known as Capital. It gets its name from the Kerala 
district of Wayanad. It flows eastward until it meets the 
Kaveri River in Tirumakudalu Narasipura, Karnataka. 
The Kaveri River is 765 kilometers long, with a basin 
area of approximately 78000 square kilometers. The 
Kaveri (also known by the anglicized name Cauvery) 
is a major Indian River that flows through the states of 
Karnataka and Tamil Nadu. The Kaveri River rises at 
Talakaveri in the Brahmagiri range of the Western Ghats, 
Kodagu district of the Indian state of Karnataka, at an 
elevation of 1,341 m above mean sea level, and flows 
for approximately 800 kilometers before emptying into 
the Bay of Bengal. It flows into the sea at Poompuhar in 
the Mayiladuthurai district. It is the third largest river 
in southern India, after the Godavari and Krishna, and 
the largest in the state of Tamil Nadu, cutting the state in 
half along its course. The River was also known as Ponni 
(the golden maid) in Tamil literature.

	 61.	 Option (3) is correct.
	 	The Cenozoic era is also known as the Mammalian Age. 

The age of Mammals is so named because the largest 
animals at the time were mammals. Mammals came 
into their own after the dinosaurs died out 65 million 
years ago. Mammals had lived in relative obscurity for 
the previous 150 million years. Cenozoic Era, is the third 
major epoch in Earth’s history, lasting approximately 
66 million years and continuing to the present. It was 
the period when the continents assumed their modern 
configuration and geographic positions, as well as when 
Earth’s flora and fauna evolved towards those of today.

	 62.	 Option (3) is correct.
	 	The 2019 CISM World Games were held in Wuhan, China. 

This military game was held from October 18 to October 
27, 2019, with the theme of military glory, and world 
peace. It was China’s first international military multi-
sport event. This occurrence occurs every four years. 
China topped the rankings, with India ranking 27th. 
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	 63.	 Option (1) is correct.
	 	Corundum is an aluminum ore. Aluminum oxide in 

its crystalline form. It is the second hardest natural 
substance after diamond. Its more valuable varieties 
include sapphire and ruby. Aluminum (Al), also spelled 
aluminum, is a chemical element that is a lightweight 
silvery-white metal in Periodic Group 13 (IIIa, or 
the boron group). Aluminum is the most common 
nonferrous metal and the most abundant metallic 
element in the Earth’s crust. Aluminum is never found 
in its metallic form in nature due to its chemical activity, 
but its compounds are found to varying degrees in 
almost all rocks, vegetation, and animals. Aluminum is 
concentrated in the outer 16 km (10 miles) of the Earth’s 
crust, where it accounts for about 8% of the total weight; 
only oxygen and silicon are more abundant. Aluminum 
is named after the Latin word a lumen, which was used 
to describe potash alum or aluminum potassium sulfate.

	 64.	 Option (3) is correct.
	 	The Sultan Johor Cup is a Malaysian international 

under-21 men’s field hockey tournament. It was 
founded in 2011 and has produced five champions. 
The most successful team was Great Britain, which won 
the tournament three times. The tournament was won 
twice by India and Australia, and once by Germany and 
Malaysia.

	 65.	 Option (4) is correct.
	 	The ‘Mysuru Peta’ is a traditional headdress. Mysuru 

and Kodagu district residents are proud to wear turbans 
known as Mysuru Peta. It is a traditional piece of clothing 
worn on special occasions such as weddings. During 
religious ceremonies, men wear turbans to show respect 
and reverence for the supreme beings. Peta Mysuru. It is 
a traditional piece of clothing worn on special occasions 
such as weddings.

	 66.	 Option (2) is correct.
	 	Lijo Jose Pellissery directed the Malayalam feature film 

Jallikattu. The Film Federation of India (FFI) announced 
that it has been chosen as India’s official entry for 
the International Feature Film category at the 93rd 
Academy Awards 2020. Newton is a Hindi feature film 
that has been chosen as India’s official entry for the 90th 
Academy Awards’ International Feature Film category. 
Gully Boy is a Hindi feature film that has been chosen 
as India’s official entry for the 92nd Academy Awards’ 
International Feature Film category. Village Rockstars is 
an Assamese film that has been chosen as India’s official 
entry for the 91st Academy Awards’ International Feature 
Film category. The Academy Award, also known as the 
Oscar, is the highest international film award given by 
the United States Academy of Motion Picture Arts and 
Sciences (AMPAS). The first Oscar was given out in 1929. 
Cedric Gibbons created the Oscar award statue. Bhanu 
Athaiya is the first Indian to win an Oscar (1982). A. R. 
Rahman is the first Indian to win two Oscars. Important 
Considerations Parasite won the 92nd Academy Award 
for Best Picture. Bong Joon Ho is the best director 
(Parasite film). Joaquin Phoenix, Actor in a Leading Role 
(Joker film). Renee Zellweger is a leading actress (Judy 
film). Brad Pitt (Once Upon a Time in Hollywood) wins 
best-supporting actor. Laura Dern wins best supporting 
actress (Marriage Story). Hair Love is an animated short 
film. Toy Story 4 is an animated feature film.

	 67.	 Option (3) is correct.
	 	A follow-on public offering (FPO) is when a company 

issues shares to investors on a publicly traded stock 
exchange. In this case, the company typically announces 
FPOs to raise equity or reduce debt. FPO is classified into 
two types: dilutive and non-dilutive. Dilutive shares are 
new shares that are added, whereas non-dilutive shares 
are existing private shares that are sold publicly.

	 68.	 Option (3) is correct.
	 	Muqtis were military and administrative block 

commanders known as iqta. The Iqta system arose 
from the requirements of early Turkish Sultans. The 
Sultan assigned an Iqta to those areas of the Sultanate 
that were far from the capital and difficult to collect 
revenue from. Outside of India, the Iqta system began 
in Persia (Iran) and Western Asia. Iltutmish established 
Iqta’s administrative structure. The Iqta system was 
established by Iltutmish. The definition of Iqta is to 
provide land in exchange for a salary rather than money. 
Since the time of Balban, after meeting his and the 
army’s expenses, the surplus revenue had to be sent to 
the center. This surplus was known as fawazil. Sikandar 
Lodhi abolished this practice.

	 69.	 Option (1) is correct.
	 	Trans-fats, also known as trans fatty acids, are a type 

of unsaturated fatty acid. They can be found in both 
natural and man-made forms. A ruminant fatty acid 
is found in ruminant meat and dairy. Trans fats raise 
your bad (LDL) cholesterol while decreasing your good 
(HDL) cholesterol. Our risk of developing heart disease 
and stroke increases when we consume trans fats. It 
could be the cause of the increased risk of developing 
type 2 diabetes. LDL stands for low-density cholesterol, 
and HDL stands for high-density cholesterol.

	 70.	 Option (3) is correct.
	 	Europa is Jupiter’s natural satellite. Ganymede is the 

largest natural satellite. It is the solar system’s sixth-
largest moon. Galileo Galilei discovered it in 1610. This 
natural satellite is named after Europa, the Phoenician 
mother of King Minos of Crete and Zeus’ lover. In our 
solar system, Saturn has the most Moons (82 moons).

	 71.	 Option (2) is correct.
	 	Hydrogen (H), the simplest member of the chemical 

element family, is a colorless, odorless, tasteless, 
flammable gaseous substance. The hydrogen atom 
has a nucleus that consists of a proton with one unit 
of positive electrical charge and an electron with 
one unit of negative electrical charge. Under normal 
circumstances, hydrogen gas is a loose aggregation 
of hydrogen molecules, each of which contains a pair 
of atoms, a diatomic molecule, H2. The earliest known 
significant chemical property of hydrogen is that it 
burns with oxygen to form water, H2O; in fact, the 
name hydrogen is derived from Greek words that mean 
“maker of water.”

	 72.	 Option (2) is correct.
	 	In 2003, the 91st amendment act was passed. According 

to Article 75, the Prime Minister of India is appointed 
by the President of India. The President will appoint the 
Minister based on the Prime Minister’s recommendation. 
The minister shall serve at the pleasure of the president. 
The ministerial council will be collectively accountable 
to the people’s house. In 2002, the 86th amendment act 
was inserted as 21A in Article 21, which discusses the 
right to education. It was made a fundamental right for 
children aged 6 to 14. According to this amendment, the 
state shall provide free and compulsory education to 
children aged 6 to 14 in the manner determined by law.

	 73.	 Option (1) is correct.
	 	‘Sagarmala’ is the name of an infrastructure 

development project in India that aims to promote 
‘port-let development.’ The central government of India 
has launched this initiative to improve the performance 
of the country’s logistics sector. The program intends 
to maximize the potential of waterways and coastlines 
to reduce infrastructure investments required to meet 
these targets. Narendra Modi, the Indian Prime Minister, 
launched it in 2015. This project is overseen by the 
Ministry of Shipping.
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	 74.	 Option (1) is correct.
	 	The tapping of phone calls violates Article 21 of the 

constitution’s fundamental right to privacy. Telephone 
tapping must be approved by the authorities in India. 
Section 5 of the Indian Telegraph Act of 1885 empowers 
the Central Government or State Government to order 
message interception. 

	 Article 22 details the protection against arrest and 
detention in certain circumstances. Except with the 
authority of a judicial Magistrate, an arrested person 
may not be detained beyond the specified period. “All 
persons are equally entitled to freedom of conscience 
and the right to freely profess, practice, and propagate 
any religion subject to public order, morality, and 
health,” according to Article 25. 

	 75.	 Option (3) is correct.
	 	Hydrogen Peroxide is used in bleaching as a substitute 

for chlorine. Because the goal is to destroy hydrogen 
sulfide or other order bacteria or to oxidize iron or 
tannins, it is an excellent substitute for bleach. Unlike 
chlorine bleach (also known as sodium hypochlorite), it 
does not introduce sodium or other trace contaminants 
into the water. Peroxide degrades into oxygen and water, 
leaving the water smelling and looking great. The water 
is free of odor, sediment, iron, manganese, and any 
trace residues or peroxide residuals when combined 
with a catalytic backwash carbon filter. Compound 
Applications Borax is effective against ants, fleas, and 
other pests. Saltpeter in the soup, there is a thickening 
agent. Peroxide of Hydrogen use as a mild antiseptic 
liquid.

	 76.	 Option (2) is correct.
	 	Raunak Sadhwani, 13 years old, has become the 65th 

Indian Grandmaster. Sadhwani is a Nagpur-based 
international master. Raunak won his first faster title 
at the 2019 Aeroflot Open and his second at the 2019 
Porticcio Open. Vladimir Kramnik, a former world 
champion, trained him. The Grandmaster title is 
awarded by the world chess organization FIDE to 
chess players (Federation Internationale des Echecs or 
International Chess Federation).

	 77.	 Option (1) is correct.
	 	In revenue administration under the imperial Cholas, 

the term ‘Shalabhoga’ refers to land donated for the 
upkeep of a school. The inscriptions of the Cholas, 
who ruled in Tamil Nadu, indicate that their kingdom 
used over 400 terms for various types of taxes. The 
Cholas were the most civilized people in the Indian 
subcontinent. The Gupta Empire was known as the 
“Golden Age of India” during its reign. According to 
Chola inscriptions, Chola kings bestowed five types 
of “land gifts” on their subjects: Shalabhoga refers to 
school maintenance land, Devadana tirunamattukkani 
is temple land, Pallichchhandam is Jaina institution 
land, and Brahmadeya is land gifted to Brahmanas.

	 78.	 Option (2) is correct.
	 	A nebula is a cloud of dust and hydrogen in the life cycle of 

a star. The nebula is composed of hydrogen and gases that 
are gradually collapsing due to the force of their gravity. 
As the nebula collapses due to gravity, its size shrinks and 
shrinks. As the nebula collapses, the particles become 
closer to each other, causing friction and the production 
of heat. This heat causes an increase in pressure, which 
pushes against gravity, slowing the star’s collapse. This 
pressure rises as the nebula shrinks and the temperature 
rises, ushering in the next stage of a star’s life cycle. 

	 79.	 Option (2) is correct.
	 	Bhavai is a popular folk theatre of western India, 

primarily from Gujarat. Bhavai is derived from 
the Sanskrit word Bhava, which means emotional 

expression. It is also associated with the Hindu goddess 
Amba, as Bhav means universe and Aai means mother, 
implying the universe’s mother. According to legend, 
it began in the 14th century, and Asaita Thakar was 
traditionally created for its origin.

	 	Lazim is an Indian folk dance form from the state of 
Maharastra. It can also be spelt Lezim or Lezium. Lazim 
dancers carry small musical instruments with jingling 
cymbals called the Lezim or Lezium, which is also the 
name of the dance farm. The Lezim requires at least 20 
dancers. Because it involves many callisthenic moves 
and can be quite strenuous, the dance is frequently used 
as a fitness drill by Maharashtra schools, militias, and 
other institutions.

	 	Chhau is also an Indian semi-classical dance. It is also a 
martial, tribal, and folk tradition from eastern India. 

	 80.	 Option (3) is correct.
	 	The total number of appointed Rajya Sabha members 

from Uttar Pradesh is 31. Members of the Rajya Sabha 
are elected indirectly by the state legislatures of Uttar 
Pradesh. These members are elected for a six-year term. 
Every two years, one-third of the members retired. 
Rajya Sabha is also called the ‘Council of States’. The 
Rajya Sabha has a maximum strength of 250 members. 
The Rajya Sabha’s current strength The state is 
represented by 245 members. The union territories are 
represented by 229 members. 4 Members are nominated 
by the President 12 Allocation of Rajya Sabha seats to 
states and union territories The Fourth Schedule of the 
United States Constitution Rajya Sabha Chairman Rajya 
Sabha Deputy Chairman Venkaiah Naidu Rajya Sabha 
Secretary-General Harivansh Narayan Singh Deepak 
Verma, Desh

	 81.	 Option (1) is correct.
	 	Surma River originates in India’s Manipur Hills in 

Shillong and Meghalaya. This river runs for 940 
kilometers, 350 of which are in Bangladesh. The 
Meghna River is formed within Bangladesh in the 
Kishoreganj District above the town of Bhairab Bazar 
by the confluence of the Surma and the Kushiyara, 
both of which originate as the Barak River in the hilly 
regions of eastern India. The river is known as the Barak 
River because it originates in the Manipur Hills near 
Mao Songsang. The River splits near the border with 
Bangladesh, with the northern branch known as the 
Surma River and the southern as the Kushiyara River. 
The River enters the Surma Basin through the Sylhet 
Depression (or trough).

	 	The Surma River receives its water from tributaries in the 
Meghalaya Hills to the north, and it is also known as the 
Baulai River after it joins the south-flowing Someshwari 
River. The Kushiyara receives tributaries from the Sylhet 
Hills and the Tripura Hills to the south, with the Manu 
being the main one from the Tripura Hills. After being 
joined by a major offshoot (distributary) from the 
Surma, the Kushiyara is also known as the Kalni River. 
The Surma and Kushiyara rivers merge in Kishoreganj 
District, above Bhairab Bazar, to form the Meghna River. 
The Surma passes through several haors.

	 82.	 Option (1) is correct.
	 	Abhijit Banerjee co-wrote the book “Good Economics for 

Hard Times: Better Solutions to Our Biggest Problems.” 
In 2019, Abhijit Banerjee was awarded the Nobel Prize 
in Economics. Abhijit Vinayak Bannerjee is a Ford 
Foundation International Professor of Economics at the 
Massachusetts Institute of Technology. He was born in 
Mumbai on February 21, 1961. He is a member of the 
Consortium on Financial Systems and Poverty and a 
research affiliate of Innovations for Poverty Action.
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	 83.	 Option (4) is correct.
	 	The movie “Raazi” won the The ‘Best Film’ award at The 

20th IIFA Awards in 2019. The film ‘Raazi’ was directed 
by Meghna Gulzar. Meghna Gulzar is a writer, director, 
and producer from India. She was born on December 
13, 1973, in Maharashtra, Mumbai, to lyricist and poet 
Gulzar and former ache film “Raazi” was named “Best 
Film” at the 20th IIFA Awards in 2019. Alia Bhatt played 
the tress Raakhee. Raazi, which was made on a budget 
of 350 million (US$4.4 million), went on to gross 1.96 
billion (US$25 million) worldwide, becoming one of the 
highest-grossing Indian films with a female protagonist. 
It was also a critical success, with praise for Meghna’s 
direction and Bhatt’s performance. Raazi received 15 
nominations and won 5 awards (tying with Andhadhun) 
at the 64th Filmfare Awards, including Best Film, Best 
Director (Gulzar), and Best Actress (Bhatt).

	 84.	 Option (2) is correct.
	 Dighi Port is not located in Gujarat, It is located in 

Maharastra. Sikka Harbour It is located in Gujrat’s 
Jamnagar district. Port of Okha Okha Port is located 
in the Gujarat state of Devbhumi Dwarka. Mundra 
Harbour It is located near Mundra, Gujarat, on the north 
shores of the Gulf of Kutch.

	 85.	 Option (3) is correct.
	 	Disinflation refers to a temporary slowing in the rate of 

price inflation. A scenario in which inflation is caused 
primarily by the inflation of a few commodities rather 
than all commodities. Disinflation is defined as a 
sudden sharp drop in prices caused by unanticipated 
factors. A general decrease in prices over a given period. 
Disinflation is defined as a temporary slowing of the 
rate of price inflation and is used to describe situations 
in which the inflation rate has decreased marginally in 
the short term. Disinflation is the rate of change in the 
rate of inflation, as opposed to inflation and deflation, 
which refer to the direction of prices. A healthy level 
of disinflation is required to keep the economy from 
overheating. The risk of disinflation arises when the rate 
of inflation approaches zero, as it did in 2015, raising the 
prospect of deflation. After reaching its highest levels in 
four decades last year, inflation has resurfaced in 2023.

	 86.	 Option (2) is correct.
	 	Periyar EV Ramasamy founded the ‘Kudi Arasu’ 

magazine. It is also spelled Kudiyarasu, which means 
“republic” in English. It is a weekly Tamil magazine 
published by Periyar EV Ramasamy in Madras 
Presidency. On May 2, 1925, Periyar launched Kudi Arasu 
in Erode, with K. M. Thangaperumal Pillai as the editor. 
Periyar left the Indian National Congress in November 
1925 after his failed attempt to gain reservations for non-
Brahmins in educational institutions and government 
jobs.

	 87.	 Option (3) is correct.
	 	The renowned poet K Siva Reddi has been awarded the 

‘Saraswati Samman 2018’. He has received recognition 
for his poetry collection Pakkaki Ottigilite. K Shiva 
Reddi was born in 1943 to a farmer family in Guntur, 
Andhra Pradesh. He is regarded as one of Telugu’s most 
renowned contemporary poets. The Saraswati Samman 
is given to individuals each year for their outstanding 
literary work in any of the 22 languages listed in 
Schedule VIII of the Indian Constitution. The award, 
which was established in 1991, carries a cash prize of 
` 15 lakhs. Gujarati poet Sitanshu Yashaschandra was 
chosen for the 27th Saraswati Samman 2017 for his verse 
collection “Vakhar,” which was published in 2009.

	 88.	 Option (1) is correct.
	 	Article 31C-saving of laws that give effect to a specific 

directive principle. Part IV of the Constitution of India 

does NOT explicitly expect the State to secure maternity 
leave for employed women. Minority interests are 
protected under Article 29, which provides that any 
section of citizens residing in any part of India with a 
distinct language, script, or culture has the right to 
preserve it. Minorities have the right to establish and 
manage educational institutions. Minorities are granted 
the right to establish educational institutions, with the 
government providing funding and no discrimination. 
31 A saving of law providing for the acquisition of 
estates, etc. protects five categories of law from being 
challenged or invalidated based on a violation of 14, 
19. Validation of certain acts and regulations under 31B. 
Saves the act and regulations in the ninth schedule from 
being challenged and declared invalid for violating any 
fundamental rights. 31C Saving of laws that give effect 
to a specific directive principle. As added by the 25th 
Amendment Act of 1971. 32 remedies for enforcing the 
rights granted by this part. Confers the right to recourse 
for the enforcement of a citizen’s fundamental right. 33 
Parliamentary power to modify the rights conferred by 
this Part in their application to forces, etc. empowers 
Parliament to restrict or abrogate a member of the armed 
forces, police, etc to ensure that their responsibilities are 
met. 34 While martial law is in effect in any area, the 
rights conferred by this Part are restricted. While martial 
law is in effect in any area of India’s territory, it restricts 
fundamental rights. 35 legislation to give the provisions 
of this part effect. Stipulates that the power to make 
laws and give effect to certain specified fundamental 
rights shall be vested solely in parliament, not in state 
legislatures.

	 89.	 Option (1) is correct.
	 	Tolkappiyam was a book written by Tolkappiyar. It is 

a book on Tamil grammar. Book Writer Tolkappiyam 
Tolkappiyar Murugatrupadai Nakkirar Akananuru 
Rudrasarman Maduraikkanji Mangudi Marudam. 
Tolkppiyam, also romanized as Tholkaappiyam and 
translated as “ancient poem,” is the oldest extant Tamil 
grammar text and the oldest extant long work of Tamil 
literature. The Tolkappiyam manuscripts consist of 
three books (atikaram), each with nine chapters (iyal), 
and a total of 1,610 (483 + 463 + 664) sutras in the np 
meter. It is a comprehensive grammar text with sutras 
on orthography, phonology, etymology, morphology, 
semantics, prosody, sentence structure, and the 
importance of context in language.

	 90.	 Option (3) is correct.
	 	Pit dwellings have been discovered in archaeological 

sites in Burzahom. It is located in the Indian state of 
Jammu and Kashmir’s Kashmir Valley. Archaeological 
excavations revealed four culturally significant phases 
between 3000 BC and 1000 BC. Periods I and II are 
about the Neolithic era, Period III is about the Megalithic 
era, and Period IV is about the early historical period. 
The Burzahom site demonstrated the transition from 
Neolithic subterranean and ground-level housing 
features to Megalithic mudbrick structures.

	 91.	 Option (4) is correct.
	 	Smallpox is a fatal viral disease that is highly contagious. 

During the twentieth century, it is estimated that it 
infected approximately 300 million people. The last 
known case of smallpox in Ethiopia was in 1977. In 
1980, it was declared completely eradicated. Agent 
of Influence The virus Variola Acquisition Method 
Inhaling respiratory droplets from an infected person. 
Direct contact with the sores. Surfaces that have been 
contaminated should not be touched. Affects The 
skin’s cells Symptoms Flu-like symptoms such as fever, 
headache, back pain, and vomiting first appeared. The 
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appearance of red spots progresses into fluid-filled 
blisters. After 8-9 days, scabs form and eventually fall off, 
leaving scars. Edward Jenner developed the smallpox 
vaccine. In 1796, the vaccine was discovered. He 
demonstrated that inoculated cowpox protected against 
inoculated smallpox after observing that milkmaids 
who had previously caught cowpox did not later catch 
smallpox.

	 92.	 Option (4) is correct.
	 	Salman Rushdie’s novel, ‘Quichotte,’ was published in 

2012. It was first published on August 29, 2019. It is the 
fourteenth novel by Jonathan Cape, published in the 
United Kingdom, and Penguin Books India, published in 
India. Random House released it in the United States on 
September 3, 2019. It is up for the Booker Prize. Salman 
Rushdie’s novel Quichotte was published in 2019. It is 
his fourteenth novel, and it was released on August 29, 
2019, by Jonathan Cape in the United Kingdom and 
Penguin Books India in India. Random House released 
it in the United States on September 3, 2019. Quichotte, 
a metafiction inspired by Miguel de Cervantes’ classic 
novel Don Quixote, tells the story of an addled Indian-
American man who travels across America in pursuit of 
a celebrity television host with whom he has become 
obsessed.

	 93.	 Option (4) is correct.
	 	Punjab and Haryana are considered India’s breadbasket. 

It is known as India’s Breadbasket because Punjab 
produces 20% of India’s wheat on only 1.5 percent of its 
land area. It provides 60% of the central government’s 
wheat reserve stock. Punjab’s productivity has enabled 
India to feed the majority of its growing population, 
which has tripled from 350 million when the country 
gained independence in 1947 to more than 1.2 billion 
today.

	 94.	 Option (3) is correct.
	 	The ‘Mahuri’ is a traditional wind instrument from the 

Indian state of Odisha. It is a lucky instrument (Mangala 
Badya). It is frequently included in wedding music 
arrangements. It’s common in folk theatres like Rama 
Nataka and dances like Chhau. A mythical story states 
that Brahma felt the Avatar (incarnation) of Krishna 
had already occurred on the earth in a section of the 
Bhagavata Purana known as Sukha Sagar (that is, the 
Ocean of Bliss) (Prithvi). He dispatched an emissary to 
the Mathura region to determine the truth. The emissary 
discovered Krishna wandering around Vrindavan with 
the Gopas and Gopis. Krishna then went somewhere, 
leaving the Gopas and Gopis alone for a while. During 
Krishna’s absence, Brahma’s emissary placed all of the 
Gopas and Gopis inside a cave and sealed the cave’s 
entrance. When Krishna returned and discovered 
that all of the Gopas and Gopis had vanished, he was 
furious. They were duplicated by divine power and sent 
to their respective homes. After a while, the true Gopas 
and Gopis could emerge from the cave, and when they 
arrived at their homes, they discovered their identical 
figures occupying the houses. They evicted them from 
their homes in some way. The Gopas and Gopis, who 
were created by Krishna’s divine maya, now came to 
him and prayed for shelter. Krishna advised them to live 
in the fourteen forest hamlets surrounding Vrindavan 
and instructed them to engage in trade and commerce 
for a living. Some Mahuri people believe that the Gopas 
and Gopis created by Krishna’s divine Maya are their 
ancestors, and the Mahuri people derive their surnames, 
as described below, from the Krishna had given them the 
names of the forest hamlets where they had originally 
settled.

	 95.	 Option (2) is correct.
	 	The RBI granted final approval to the Kerala government 

for the merger of district cooperative banks in October 
2019. The new entity will be known as the Kerala 
Bank. Kerala Chief Minister Pinarayi Vijayan expressed 
hope that it will play an important role in the state’s 
development. The Reserve Bank of India has approved 
for amalgamation of 13 District Co-operative Banks with 
the Kerala State Co-operative Bank to be called “Kerala 
Bank”. Kerala Chief Minister Pinarayi Vijayan expressed 
hope that the Kerala Bank would aid in the state’s 
development. Except for the one in the Malappuram 
district controlled by the opposition Congress-led UDF, 
all District Co-operative Banks had approved the Kerala 
government’s proposal in their general body meetings. 
The Reserve Bank of India granted approval subject to 
certain conditions. Kerala’s state government must meet 
these conditions and submit a compliance report to the 
central bank by March 31, 2020. Arif Mohammed Khan, 
Governor of Kerala.

	 96.	 Option (4) is correct.
	  World Ozone Day is celebrated on 16th of September each 

year. The United Nations General Assembly designated 
this date as the International Day for the Preservation 
of the International Ozone Layer. The day’s main goal 
is to raise awareness about Ozone layer depletion and 
find solutions to prevent it. On September 16, 1995, the 
first celebration of the day took place. The ozone layer is 
an O3 layer in the stratosphere that protects us from the 
sun’s harmful UV rays. The thickness of the ozone layer 
is measured in Dobson units.

	 97.	 Option (3) is correct.
	 	Surjit S Bhalla was appointed as the International 

Monetary Fund’s Executive Director for India in October 
2019. (IMF). The cabinet appointment committee was 
led by Prime Minister Narendra Modi, who approved 
Bhalla’s appointment for three years. The International 
Monetary Fund is a global organization that promotes 
global economic growth and financial stability. There 
are currently 189 member countries. Nauru was the 
most recent country to join the IMF. The United Nations 
established it in 1945. 

	 98.	 Option (3) is correct.
	 	Dadra and Nagar Haveli is a state in India. Dadra and 

Nagar Haveli were the first territories, and they became 
part of India after independence. The constitution’s 
tenth amendment included Dadra and Nagar Haveli as 
union territories. It went into effect on October 11, 1961. 
Goa In 1961, India obtained three territories from the 
Portuguese through police action. The constitution’s 12th 
amendment included Goa as a union territory. Later, in 
1987, Goa became a state (56 Amendment Act) Puducherry 
Puducherry was made a union territory of India by the 
14th constitution amendment act of 1962. Until 1954, it 
was ruled by the French. Pondicherry, Karaikal, Mahe, 
and Yanam are its four districts. Sikkim After the 35th 
constitution amendment, Sikkim was granted the status 
of an associated state in 1974. India in 1974. Sikkim was 
an Indian state ruled by the Chogyal during British rule. 
Sikkim became a full-fledged state in 1975 as a result of 
the 36th constitutional amendment act.

	 99.	 Option (2) is correct.
	 	In our renal system, the kidneys are two bean-shaped 

organs. A kidney is made up of two ureters, a urinary 
bladder, and a urethra. The kidneys are located on the 
posterior surface of the backbone on either side. The 
kidneys perform numerous vital functions, such as 
maintaining overall fluid balance, regulating, verifying, 
and filtering minerals from the blood, and so on. The 
structural and functional unit of the kidneys is the 
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nephron. The kidneys’ main functions are to regulate 
the concentration of water and soluble substances such 
as sodium salts in the blood by filtering it, reabsorbing 
what is needed, and excreting the rest as urine. Each 
nephron is made up of two major structures called the 
glomerulus and the renal tubule. Each human kidney 
contains about 1000000 nephrons. Reptiles have few 
nephrons (from 3,000 to 30,000 in lizards), whereas birds 
have a large number (around 200,000 in a fowl, twice as 
many as in a mammal of comparable size).

100.	 Option (4) is correct.
	 	Bombay blood group, also known as the H/h blood 

group, is a rare blood group phenotype that lacks H 
antigen in the red cell membrane but has anti-H in the 
serum. It does not have any A, B, or H antigens on its 
red cells or other tissues. Dr. YM Bhende discovered it 
for the first time in 1952. It cannot express H antigen. It 
lacks both A and B antigens. People with the Bombay 
blood group can donate blood to any ABO blood group 
member, but they cannot receive blood from any ABO 
blood group member.

101.	 Option (1) is correct.
	 	Total number of students in school D and E

	 = 
64 8 57 6
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5200

122 4
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. . .  


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	 	Total number of students in school A = 
86 4
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. 



	 \	 x = 
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
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	 	 = 
36
360

5200


 = 520

	  520 lies between 500 & 525.
102.	 Option (2) is correct.
	 	Let radius of park = r

	 \	r = 
210
2

 = 105 m

	 Width of path = 5 m
		 Radius of park with width, r′ = 105 + 5 = 110 m

210 m 5 m

	 \	 Area of path = pr’2 – pr2

		  = p × 1102 – p × 1052

		  = p [1102 – 1052]
		  = p [100 + 105] × [110 – 105]
		  = p (215) × (5)
		  = 1075 p m2

103.	 Option (1) is correct.
	 	AC → length of string
		 AB → height of kite
	 Given that AB = 123 m
	 In DABC

		  sin 60° = 
AB
AC

	 Þ	
3

2
 = 

123
AC

	 Þ	 AC = 
123 2

3
82 3

   = 142.024 » 142

	 \ Length of string = 142 m
104.	 Option (3) is correct.
	 	We know that, sum of observations = n × average
		 n → no. of observations
		 Sum of ten numbers = 72 × 10 = 720
		 Sum of first four numbers = 69 × 4 = 276
		 Sum of next three numbers = 74 × 3 = 222
		 \ Sum of 8th, 9th and 10th number = 720 – 276 – 222 = 222
		  Let 8th number = x
	 \ 9th number = x – 6
		  and 10th number = x – 12
		 According to question,
	 	 x + x – 6 + x – 12 = 222
	 Þ		 3x = 222 + 6 + 12
	 Þ		 3x = 240 Þ x = 80
		 8th & 9th numbers are 80 & 74 respectively

		 \ Average of 8th and 9th = 
80 74

2
+

 = 77

105.	 Option (3) is correct.
	 	A can complete the work done in (x + 8) days.
	 	B can complete the work done in (x + 18) days.
	 	According to question

	 		
1

8
1

18x x+
+

+
 = 

1
x

	 Þ		  
x x
x x
  
   

18 8
8 18

 = 1
x

	 Þ 	
2 26

26 1442
x

x x
+

+ +
 = 

1
x

	 Þ		 x2 + 26x + 144 = 2x2 + 26x
	 Þ		 144 = x2

	 Þ		 144  = x Þ x = 12

		 A & B can do 5
6

th of work in 
5

6
1

12
 = 10 days.

106.	 Option (1) is correct.

	 	Formula used : Volume of sphere = 
4
3

pr3

		 r : radius of sphere

		  Volume of cone = 1
3

pr2h

		  r : radius of cone
		  h : height of cone
		 Given that radius of sphere = x cm

		 So, volume of sphere = 
4
3

pr3 cm3

		 Radius & height of cone are 3.5 cm and 3 cm respectively.

		 So, volume of cone = 
1
3

p × 3.52 × 3 cm3

		 According to question

		
4
3

px3 = 
1
3

p × 3.5 × 3.5 × 3 × 126

	 Þ	 x3 = 
3 5 3 5 3 126

4
. .× × ×

	 Þ	 x3 = 1157.625 Þ x = 10.5 cm
107.	 Option (1) is correct.
	 	Let the cost price of all goods = `100
		 C.P. of 75% of goods = `75

60°

123 m

A

BC
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		 \ Selling price (S.P.) = 
124
100

75×  = `93

		 C.P. of remaining goods = `25

		  \ Selling price = 
60

100
25×  = `15

	 \ Total S.P. = 93 + 15 = `108
	  Total S.P. > C.P.
	 Þ	 Profit% = 8%
108.	 Option (1) is correct.
	 	 Let speed of A = x km/h

X YP
A B

	 	Let A & B meet at P after “b” hours.
	 	According to question
	 	 bx = 4.05 × 8.4 = 34.02 km	 ...(i)
	 Also,	 8.4b = 2.45x	 ...(ii)
	 From (i) & (ii)

	 	 2 45
8 4

.
.
x x⋅  = 34.02

	 Þ	 x2 = 
34 02 8 4

2 45
. .

.
×

 = 116.64 Þ x = 10.8

	 Speed of A = 10.8 km/h
109.	 Option (2) is correct.
	 	(2x – 5y)3 – (2x + 5y)3 = y(Ax2 + By2)
� [We have,  a3 – b3 = (a – b)3 + 3ab (a – b)]
	 LHS = [(2x – 5y) – (2x + 5y)]3 + 3(2x – 5y) (2x + 5y) 

(2x – 5y – 2x – 5y)
	 = [–10y]3 + 3(4x2 – 25y2) × (–10y) [a2 – b2 = (a – b) (a + b)]
	 = –1000y3 – 30y (4x2 – 25y2) = y[–1000y2 – 120x2 + 750y2]
	 = y[–120x2 – 250y2]
		 Compare LHS to RHS,
		  A = –120,	 B = –250
	 	 2A – B = 2 × (–120) – (–250)
		  = –240 + 250 = 10
110.	 Option (1) is correct.
	 	 3 + cos2 q = 3 (cot2 q + sin2 q)
	 Þ	 3 + cos2 q = 3 cot2 q + 3 sin2 q
	 Þ	                      3 + cos2 q = 3 cot2 q + 3(1 – cos2 q)
	 Þ		 3 + cos2 q = 3 cot2 q + 3 – 3 cos2 q
	 Þ 	 3 cos2 q + cos2 q = 3 cot2 q

	 Þ		 4 cos2 q = 
3 2

2
cos

sin
θ
θ

	 Þ		 sin2 q = 
3
4

	 Þ		 sin q = 
3

2

	 Þ		 q = 60°	  sin 60
3

2
 











		  cos q + 2 sin q = cos 60° + 2 sin 60°

			   = 
1
2

2
3

2
+ 	  cos 60

1
2

 





			   = 
1 2 3

2
+

111.	 Option (4) is correct.
	 	Ratio of income of A & B = 3 : 5
	 	Ratio of expenditure of A & B = 4 : 7
	 	Let their incomes are 3x and 5x.

	 	Their expenditures are 4y and 7y
	 Saving = Income – Expenditure
	 \	 3x – 4y = 16000	 ...(i)
	 and	 5x – 7y = 26000	 ...(ii)
		 Multiply eq - (i) by 5 and eq - (ii) by 3 and subtract

		

15 20 80000
15 21 78000

2000

x y
x y

y

 
 

  


		 \ Difference of expenditures = 7y – 4y = 3y
		  = 3 × 2000 = `6000
112.	 Option (3) is correct.

	 	Total students in school B = 
72
360

5200




	 	\ Number of boys in school B = 
7
13

72
360

5200 



		 Total students in school D = 
64 8
360

5200
. 



		 \Number of girls in school D = 
5
9

64 8
360

5200 

.

		  Required ratio = 

7
13

72
360

5200

5
9

64 8
360

5200

 



 

.

		  = 
7 72 9

5 64 8 13
14
13

  
  


.

 = 14 : 13

113.	 Option (2) is correct.
	 	Sum of expenditure (in ̀  crores) = 150 + 210 + 350 +275 

+ 325 = 1310

		 \ Average expenditure = 
1310

5
 = 262 (` crores)

		 1.2 times of average expenditure = 1.2 × 262
		  = 314.4 (` crores)
		 Clearly in 2016 and 2018, revenue is more than the 1.2 

times of average expenditure.
		 So, correct answer is 2.
114.	 Option (3) is correct.
	 	Total expenditure in 2015 & 2016 (in ` crores) = 210 + 

350 = 560
		 Total revenue in 2016 & 2018 (in ̀  crores) = 320 + 380 = 700

		  \ Required ratio = 
560
700

4
5

=  = 4 : 5

115.	 Option (3) is correct.
	 	As per the given information, we can draw the following 

figure.

B

D

C A

	 	By AAA similarity criteria.
	 	DACB ~ DADC ~ DCDB

		
AD
CD

 = 
AC
CB

	 [C.P.S.T]

		 Also, in DABC ~ DCBD

		
BC
BA

 = 
BD
BC
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	 Þ	 BC2 = BA × BD	 ...(i)
		  In DABC ~ DACD

		
AC
AB

 = 
AD
AC

	 Þ	 AC2 = AB × AD	 ...(ii)
		  from (i) and (ii)

		
AC
BC







2

 = 
AB AD
AB BD

AD
BD






	 Þ	
AC
BC







2

 = K

	 Þ	
AC
BC

 = K K K K 



  

1
2

1
2 1

4 4

116.	 Option (1) is correct.

		  Here, 4
9

3
5

3
2

9
25

2
3

4
9

3 3
5

4
6

2
3

3
4

� ��
�
�

�
�
��

�

�
�

�

�
� �

� ��
�
�

�
�
�

�

�
�

�

�
�

�

of of

off 5
6

		

� � �
�
�

�
�
��

�

�
�

�

�
� �

� �
�
�

�
�
�

�

�
�

�

�
�

��
��

�
��

4
9

2
5

9
25

2
3

4
9

6
5

1
3

5
8

of

 

		
� � � �

2
5

20
81

15
8

5
27

		  So, The difference � � �
2
9

5
27

1
27

117.	 Option (2) is correct.

	 	70% of 80 question = 70
100

80×  = 56

		 60% of total 140 question = 
60

100
140×  = 84

		 Questions need to be correctly answer in next 60 
questions = 84 – 56 = 28

		 28 is 
28
60

100× %  of remaining 60 question.

	 i.e. 
28 5

3
×

%  = 
140

3
%  = 46

2
3

%

		 So, required percentage is 46
2
3

% .

118.	 Option (3) is correct.
	 	Formula to be used :
	 	 (a + b + c)2 = a2 + b2 +c2 + 2(ab + bc + ca)
	 	 a3 + b3 + c3 – 3abc = (a + b + c)
� (a2 + b2 + c2 – ab – bc – ca)
	 Now, (x + y + z)2 = x2 + y2 + z2 + 2 (xy + yz + zx)
	 Þ		 12 = x2 + y2 + z2 + 2 (–26)
	 Þ		 x2 + y2 + z2 = 53	 ...(i)
		 Also, x3 + y3 + z3 – 3xyz = (x + y + z)
� (x2 + y2 + z2 – xy – yz – zx) 
		  151 – 3xyz = 1[53 – (xy + yz + zx)]
	 Þ	 151 – 3xyz = [53 – (–26)]
	 Þ	 151 – 3xyz = 53 + 26 = 79
	 Þ	 3xyz = 151 – 79 = 72

	 Þ	 xyz = 
72
3

24=

119.	 Option (3) is correct.
	 Given that, principal, P = `37500
		  Rate of interest, r = 12% p.a.

	 Time	 t = 1
1
3

 years = 
4
3

 years

		  Interest is compounded 8 monthly i.e 2
3

 yearly.

		 \Compound interest = p
r

t

1

2
3

100
1

2
3








































		  = 37500 1
12 2

3
100

1

4 3 2 3































/ / /

		  = 37500 1
8

100
1

2




















 = 37500 1 08 12.  





		  = `6240
120.	 Option (1) is correct.
	 	HCF of 1491 and 852 is 213.
	  	 852 = 213 × 4
	 	 1491 = 213 × 7
	 Now divide 4749 by 213 = d

	  	 Reminder is 63 = r
		 Required sum (d+r) = 213+63 = 276
121.	 Option (2) is correct.
	 Let B = 100
	 \	A (40% less then B) = 60

	 Þ	C [40% of sum of A & B) = 
40

100
100 60 ( )

	 	 = 
4

10
160× = 60

	 	Difference between A &B = 100 – 60 = 40

	 \ Required percentage = 
40
60

100×  = 62.5%

122.	 Option (1) is correct.
	 	Let the marked price = `x

	  Selling price, S.P. = 
( %)

.
100

100
 discount

M P

	 Þ	 180 = 
100 20

100
  M P.

	 Þ	 M.P. = 
180 100

80
×

 = `225

	 As per second condition
		  S.P. = `225
	 Profit percentage = 20% 

	 \ Cost price, C.P. = S P P
. .

%



100

100

	 	 = 225
100

100 20
225

100
120




   = `187.50

123.	 Option (3) is correct.

	 A can do 
4
5

of work in 20 days.

	 Þ A can do the total work in 
20

4 5
25

/
=  days.

	 B can do 
3
4

 of work in 15 days.

213 4749
426

489

63
426

22
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	 Þ B can do the total work in 
15

3 4/
 = 20 days

	 1 day work of A & B = 
1
25

1
20

4 5
100

9
100

   

	 10 days work A & B = 10
9

100
9

10
 

	 \ Remaining work to do by C = 1
9

10
1

10
 

	 Þ	 C can do both work alone by 10 days.

	 1 day work of B & C = 
1
20

1
10

1 2
20

3
20

   

	 So, 
3
4

th work will be done by B & C in 
3 4
3 20

5
/ =  days

124.	 Option (1) is correct.
	 Let the radius of hemisphere = r 
	 We have, total surface area  of hemisphere= 3pr2

	 \ A.T.Q, 	 3 × 
22
7

× r2 = 1039.5

	 Þ		 r2 = 110.25
	 Þ		 r = 10.5 cm

	 	 Volume of hemisphere = 
2
3

 π3

	 		  = 
2
3

22
7

10 53× × .

	 		  = 2425.5 cm3

125.	 Option (3) is correct.
	P and Q can fill a tank in 18 and 27 minutes, respectively.

	In 1 minute P & Q fill the tank 
1

18
1

27
3 2

54
5

54

  

 th

	 In 6 minute P & Q fill the tank 6
5
54

×  i.e. 
5
9

 th part.

	 R can empty the tank in 54 minutes

	 	\ R can empty 
5
9

th part of tank in 

5
9

4
54

5
9

54

30

 

 min126.	 Option (2) is correct.
	 Case-1
	  	Principal amount = `18600 
	 	 Rate of interest, r = x % p.a.

	 Time, t = 3
1
2

 year = 
7
2

 years

	 \ Simple interest = 
P R T x    

100
18600 7

100 2
	 Case-2
	 Principal amount = 2 × 18600 = `37200
	 Rate of interest = (x + 2)% p.a.

	 Time = 
7
2

 years 

	 \ Simple interest = 
37200 7 2

100 2
  


( )x

	 According to question

	 	18600 7
200

37200 7 2
200

23110 5
      x x( )

.

	 Þ 
18600 7

200
2 2

  [ ( )]x x  = 23110.5

	 Þ 	 3x +4 = 
23110 5 200

18600 7
. ×

×
	 Þ	 3x = 31.5
	 Þ	 x = 10.5
	 	\ Rate of interest on second investment  

	 = (x + 2)% = (10.5+2)% = 12.5%
127.	 Option (3) is correct.

	 	A, B and C’s investments are in ration 
2
5

3
4

5
8

: :  = 16 : 
30 : 25

		 \ Initial investment of A = 16x
		   Initial investment of B = 30x
		   Initial investment of C = 25x

Investment A B C
For first 4 months 16x 30x 25x
For next 4 months 24x 24x 25x
For last 4 months 24x 24x 25x

	  	 [As, 50% of 16 x = 8x &  20% of 30x = 6x]
		 Total investment of A = 16 x + 24x + 24 x = 64x
		 Total investment of B = 30x + 24x + 24x= 78x
		 Total investment of C = 25x + 25x + 25x = 75x
		 Their share of profit will be in ratio 64:78:75.

	 	\ B’s share of profit = 
78

64 78 75
282100

 


	 	 = 
78
217

282100×  = 101400

	 \ B’s share of profit is `101400.
128.	 Option (1) is correct.
	 Number of workers whose age is 36 years or more but 

less than 48 years = 70 + 75 + 80 = 225
	 Number of workers whose age is less than 28 years = 65 

+ 75 = 140

	 \ Required percentage = 
225 140

140
100

 

		  = 
85

140
100× = 60.71% @ 60.7%

129.	 Option (4) is correct.
	 As per the question
	 	 Let AB = x m
		  BD = CE=12 m
		  ÐACB = 60°
		  ÐBCD = 30°
	 In ∆BCD

		  tan30° = 
BD
BC

	 Þ	                             
1
3

12=
BC

	 Þ	 BC = 12 3m

	 In DABC 	 tan60° = AB
BC

	 Þ	 3  = 
x

12 3
	 Þ               3 12 3  x
	 Þ	 x = 36 m
	 Height of hill, AD = AB + BD = 36 + 12 = 48 m

130.	 Option (1) is correct.
	 From the histogram, number of workers whose age is 32 

years or more but less than 44 years = 85+70+75 = 230

A

D

C

E

x

B

12 m12 m

60°
30°
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131.	 Option (3) is correct.
	 	Formula to be used :
	 (x + y + z)2 = x2 + y2 + z2 + 2(xy + yz + zx)
		  x3 + y3 + z3 – 3xyz = (x + y + z) (x2 + y2 + z2 – xy – yz – zx)
		  Now, (a + b + c)2 = a2 + b2 + c2 + 2ab + 2bc + 2ca
		  62 = 38 + 2 (ab + bc + ca)
	 Þ	 36 – 38 = 2 (ab + bc + ca)
	 Þ	 ab + bc + ca = – 2 / 2 = –1
		   a(b2 + c2) + b(c2 + a2) + c(a2 + b2) + 3abc
	 =	a[38 – a2] + b[38 – b2] + c[38 – c2] + 3abc
	 =	38a – a3 + 38b – b3 + 38c – c3 + 3abc
	 =	38 (a + b + c) – a3 – b3 – c3 + 3abc
	 =	38 × 6 – [a3 + b3 + c3 – 3abc]
	 =	228 – (a + b + c) [a2 + b2 + c2 – ab – bc – ca]
	 =	228 – 6 × [38 – (–1)] =228 – 6 × 39 = –6
132.	 Option (2) is correct.

	 	Number of students in school C = 
79 2
360

5200
. 



	 	Number of students in school B = 
72
360

5200




	 Number of students in C more than B = 
79 2 72

360
5200

.   


  = 104

	 	\ Required percentage = 
104

72
360

5200
100






		  = 
2

1
5

10= %

133.	 Option (1) is correct.
	 	Diameter of base of cone, d = 30 cm

	 	\ Radius of base of cone, r = 
d
2

 = 15 cm

		 Let height of cone = h cm

		 \ Volume of cone = 
1
3

pr2h

		 According to question

		
1
3

p × 15 × 15 × h = 600p

	 Þ	 h = 
600

15 5×
 = 8 cm

		 Slant height of cone, l = h r2 2+

		  = 8 152 2+ = 64 225 289 
		  = 17 cm
		 Total surface area of cone = pr ( r + l)

		  = 
22
7

15 15 17   = 
22
7

15 32× ×

		  = 480p cm2

134.	 Option (1) is correct.
	 	Marked price of article = `1000

		 Price of article after 20% = 
100 20

100
1000

   = `800

		 Final selling price of article after 2nd discount of x% 

= 
100

100
800

  x

		 According to question 

		
100

100
800

  x
 = 680 Þ (100 – x) = 

680
8

	 Þ		 100 – x = 85
	 Þ		 x = 100 – 85 = 15
		 \ 2nd discount is 15%

135.	 Option (1) is correct.
	 	 Length of train = 212 m
	 	Length of platform = 188 m
	 	\ Total length to be covered by train to pass the platform 

= 212 + 188 = 400 m

		  Speed of train = 45 km/h = 45
5

18
25
2

 m/s m/s

		 Time to cross platform = 
400

25 2
800
25/

×  = 32 seconds

136.	 Option (3) is correct.
	 	Divide 1000 by 5, 7 and 35 to get numbers divisible by 

them

	

5 1000
1000

x

200

	

7 1000
994

6

142

	

35 1000
980

20

28

	 No. of natural numbers less than 1000 which are divisible 
by 5 = 199	( 1000 will not be included)

		 No. of natural numbers less than 1000 which are divisible 
by 7 = 142

		 No. of natural numbers less than 1000 which are divisible 
by 35 = 28

		 No. of natural numbers less than 1000 which are divisible 
by 5 or 7 but not by 35 = 199 – 28 + 142 – 28 = 285

137.	 Option (1) is correct.
	 	Total number of students = 72
	 	Ratio of students in section A and B = 7 : 5

	 	\ Students in section A = 
7
12

72×  = 42

		 Students in section B = 
5

12
72×  = 30

		 [Sum of observations = no. of observations × Average]
		 \ Sum of weights of 72 students = 72 × 52 kg = 3744 kg
		 Let average weight of students in section A = x kg

		 \ average weight of students in section B = 120
100

x kg
 

	 = 1.2x kg
		 According to question
		  42x + 30(1.2x) = 3744
	 Þ	 42x + 36x = 3744
	 Þ	 78x = 3744 Þ x = 48
		 \ Average weight of students in section B = 48 × 1.2 = 57.6kg
138.	 Option (2) is correct.
	 Let income of man = 60x

	 Þ Expenditure of man = 
2
3

60× x  = 40x

	 and saving = 60x – 40x = 20x

		 New income of man = 
100 14

100
60

   x

		  = 
114 6

10
×

x  = 68.4x

		  New expenditure = 
100 20

100
40

   x

		  = 
120 40

100
×

x = 48x

	 	 Now new saving = 68.4x – 48x = 20.4x
		  \ Percentage increase in saving

		  = 
20 4 20

20
.  

 × 100 = 
0 4 100

20
.

%
×

= 2%



SOLVED PAPER (11th December 2019-Shift-1)	 271

139.	 Option (3) is correct.
	 	As per given, we will draw following figure

O
S

Q

32°
P TR

	 	 Given that ÐSPT = 32°
	  OR ^ PT    	(Radius is perpendicular on tangent)
	 Þ	 ÐORP = 90°
	 Let	 ÐQRP = x°
	 Now,	 ÐOQR = 32° + x°
		 [Sum of opposite interior angles is equal to exterior 

angle]
	 Þ	 ÐOQR = ÐORQ = 32° + x°
		  [Angle opposite to equal sides]
	 Now,	 ÐORP = ÐORQ + ÐQRP
		  90° = 32° + x° + x°
	 Þ	 2x° = 90° – 32° = 58° Þ x° = 29°
	 \	 ÐQRP = 29°
140.	 Option (4) is correct.
	 	A can fill the tank in 12 minutes.
	 	B can fill the tank in 18 minutes.
	 	C can fill the tank in 24 minutes.
	 	They will fill the tank in 7 minutes 

	 	 = 7
1

12
1

18
1
24

 





th

 part

	 	 = 
7
6

1
2

1
3

1
4

 





th

 part

	 	 = 
7
6

13
12

× th part = 
91
72

th part

	 	 =1 
19
72

th part

	 	Overflow volume is equal to 
19
72

th part of tank

	 	\ Required percentage = 
19

72
1

100× %  = 26
7
8

%

141.	 Option (1) is correct.

260 m

200 m

26
0 

m

400 m
	 	 Non-parallel sides are equal. So the trapezium is 

isosceles trapezium.
	 Here, shorter parallel side, a = 200 m
		  longer parallel side, b = 400 m
	 and non-parallel side, c = 260 m
		 \ Area of isosceles trapezium 

		  = 
1
2 2

2
2

a b c
a    





		  = 
1
2

200 400 260 1002 2   

		  = 
1
2

600 240× × = 72000 m2

142.	 Option (1) is correct.
	 	First find the LCM of 2, 3, 4, 5, 6 and 7

	

2 2 3 4 5 6 7
2 1 3 2 5 3 7
3 1 3 1 5 3 7
5 1 1 1 5 1 7
7 1 1 1 1 1

, , , , ,
, , , , ,
, , , , ,
, , , , ,
, , , , ,,
, , , , ,

7
1 1 1 1 1 1

	 LCM = 2 × 2 × 3 × 5 × 7 = 420
		 Number lie between 2000 & 2500
		 So, number will be 420 × 5 = 2100
		 To get remainder 1 in each case, we will add 1 to 2100.
		 So, the required number is 2100 + 1 = 2101
		 Sum of digits of 2101 = 2 + 1 + 0 + 1 = 4
143.	 Option (1) is correct.

	
0 6912 0 5292
0 6912 0 5292
. .
. .




	 = 
0 6912 0 5292
0 6912 0 5292

0 6912 0 5292
0 6912 0 5292

. .

. .
. .
. .




 


	 = 
0 6912 0 5292

0 6912 0 5292

2
. .

. .

 


	 = 
0 6912 0 5292 2 0 6912 5292

0 162
. . .

.
  

	 = 
1 2204 2 0 6048

0 162
2 43

0 162
. .

.
.

.
   = 15

144.	 Option (2) is correct.

	
0 74 1 23 0 13

0 37 0 41 8 0 393 3 3
. . .

. . .

 

       
 

	 = 
2 0 37 3 0 41 0 13

0 37 0 41 2 0 393 3 3
   

       
. . .

. . .
	 ( 8 = 23)

	 = 
2 0 37 3 0 41 0 13

0 37 0 41 0 783 3 3
   

       
. . .

. . .

	 = 
2 0 37 3 0 41 0 13

3 0 37 0 41 0 78
   
   

. . .
. . .

	 [If a + b + c = 0 then a3 + b3 + c3 = 3abc]
	 [ – (0.78)3 = (– 0.78)3 and 
		  a = 0.37 
		  b = 0.41 
		  c = – 0.78]

	 = 2 3 0 13
3 6 0 13

1
3

 
  

 .
.

145.	 Option (4) is correct.
	 	Total expenditure in 2016, 2017 and 2018 (in ` crores) 

= 350 + 275 + 325 = 950
		 Total revenue in 5 years (in ` crores) = 200 + 250 + 320 

+ 300 + 380 = 1450
	 Difference = 1450 – 950 = 500

		 \ Required percentage = 
500

1450
100× % = 34.48% ≈ 34.5%

146.	 Option (2) is correct.
	 	Since, First line touch the circle so it must be tangent to 

circle.
	 	Second line is tangent and parallel to first line.
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A B

C D

6 cm

6 cm
O

P

Q

	 	(First tangent) AB || CD	 (Second tangent)
	 AB touches circle at P and CD touches circle at Q.
		  Radius is perpendicular to tangent at point of contact.
	 Þ QOP is a straight line and perpendicular to AB and 

CD
		 \ Distance between AB & AD = OP + OQ
		  = 6 + 6 = 12 cm
147.	 Option (2) is correct.

	 	
5 2 3 2 2 2 5 5 5

4 4 4 4 4 4 4
        

     of  of 
	 	(Using BODMAS we get)

	 = 
5 2 3 2 4 5 5 5

4 4 4 4 4 16
       

     of 

	 = 
5 2 3 3 5 5

4 4 4 4
1
4

     
  





 of 

	 = 
5 2 9 5 5

4 4 4 17
4

    
   of 

= 
5 6 5
4 4 17

 
 

	 = 
5 6

5
4 4

17

25 6
5

16
17








= 
19

5
16

17

19 17
80

 
= 

323
80

4
3

80
=

148.	 Option (4) is correct.
	 	 tan (11 q) = cot (7 q)
	 Þ	 tan (11q) = tan (90° – 7q)  

[ cot A = tan (90° – A)]
	 Þ	 11q = 90° – 70°
	 Þ	 11q + 7q = 90°

	 Þ	 18q = 90° Þ q = 
90
18

5
  

		 Now, sin2 (6q) + sec2 (9q) + cosec2 ( 12q)
	 = sin2 (6 × 5°) + sec2 (9 × 5°) + cosec2 (12 × 5°)
	 = sin2 30° + sec2 45° + cosec 60°

	 = 1
2

2
2
3

2 2
2







    





	

 sin

sec

30
1
2

45 2

60 2
3

 

 

 























cosec 

	 = 
1
4

2
4
3

+ +

	 = 
3 24 16

12
3

12
   

149.	 Option (4) is correct.
	 	Number of workers whose age is 28 years or more but 

less than 40 years = 90 + 85 + 70 = 245
	 	Number of workers whose age is 40 years or more but 

less than 52 years = 75 + 80 +55 = 210

	 	 Required ratio = 
245
210

7
6

7 6= = :

150.	 Option (2) is correct.
	 	As per the given information the figure is :

A

B CD

EF

	 	In equilateral triangle.
	 	 AC = BC = AB
	 	 CF = AD = BE
	 	(Altitude are equal in equilateral triangle)

	 	 Also, BE = 
3

2
AC

	 	Squaring both sides

	 	 BE2 = 
3
4

2AC

	 Þ	 4BE2 = 3AC2

151.	 Option (1) is correct.
	 This question tests a student’s vocabulary. The word 

“OFFBEAT” means unconventional or unusual. Example: 
“The answer sums up his offbeat, skewed vision of the 
world”. The antonym for offbeat is conventional. 

152.	 Option (1) is correct.
	 The last part of the given sentence is erroneous. It has an 

error in pronoun agreement. The pronoun “his” refers 
to “the government”, which is grammatically incorrect. 
The Government is a noun of neutral gender, so the 
correct pronoun for the government should be “it”. 

153.	 Option (2) is correct.
	 A question tag is generally described as a simple 

statement followed by a short question. If the statement 
is positive or affirmative, the question tag should be 
negative, and if the statement is negative, the question 
tag used should be positive. In the given sentence, the 
current substitute will be “haven’t you”. 

154.	 Option (4) is correct.
	 In the sentence, the speaker explains the reason for 

taking a taxi. So, the blank needs a word that is used to 
express reason. “Even if ” is used to say that if something 
is true or not, the result is the same. “Although” is used to 
show contrast. Hence, it is used to show a consequence. 

155.	 Option (3) is correct.
	 The sentence is grammatically incorrect. The clue line 

is “for two hours”. From this clue, we can understand 
that the action of waiting, though it started in the past, 
is continuing in the present. The tense needed in this 
situation is the present perfect tense. Hence, the correct 
replacement will be “has been waiting for you.”

156.	 Option (2) is correct.
	 This question tests a student’s vocabulary. The word 

complacent means showing smug or uncritical 
satisfaction with oneself or one’s achievements. Example: 
“You can’t afford to be complacent about security.” The 
synonym for complacent is smug. Hence, the correct 
answer is option (2). Discontent means dissatisfaction 
with one’s circumstances; lack of contentment. Amicable 
is characterised by friendliness and the absence of 
discord. Aggressive means ready or likely to attack or 
confront.

157.	 Option (2) is correct.
	 This question tests a student’s vocabulary. TRIVIAL 

means of very less importance. Example: “Huge 
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fines were imposed for trivial offences” Essential and 
meaningful are antonyms of trivial. The synonym for 
trivial is superficial. 

158.	 Option (1) is correct.
	 The underlined part of the sentence has an error in 

pronouns. For living beings, we use the relative pronoun 
“who”. Thus, the underlined “that” should be replaced 
by “who”. 

159.	 Option (4) is correct.
	 The blank requires a word that expresses something 

being said. The word “what” is used to express “the thing 
or things that”. Hence, in the given context, it is the best 
fit. That is used to refer to a person, object, idea, etc. that 
is separated from the speaker by space or time. Which is 
used to define being one or more out of a group. 

160.	 Option (4) is correct.
	 The sentence tests a student’s vocabulary. Two lengths of 

rope, bamboo, or wood with rungs used for climbing up 
and down walls, sides of ships, etc. are called a ladder. 

161.	 Option (4) is correct.
	 The blank requires a verb. The subject is plural, so a 

plural verb is apt for the given blank. 
162.	 Option (4) is correct.
	 The sentence tests a student’s vocabulary. Fatigue is 

extreme tiredness. Example: We were overcome by 
fatigue after the long hike. Weariness is also extreme 
tiredness. Hence, both are synonyms. Earnest is sincere. 

163.	 Option (4) is correct.
	 The sentence tests a student’s vocabulary. Erudite means 

knowledgeable. “Ken could turn any conversation 
into an erudite discussion”. The antonym of erudite is 
ignorant. 

164.	 Option (1) is correct.
	 The sentence tests a student’s vocabulary. Redundant 

is superfluous, unnecessary. Example: “This redundant 
brewery has been converted into a library”. 

165.	 Option (3) is correct.
	 The sentence has an error in tense. The sentence 

mentions an action from yesterday. Thus, a simple past 
tense is required. 

166.	 Option (1) is correct.
	 At the drop of a hat means instantly, without any reason. 

“He used to be very bashful, blushing at the drop of a 
hat”. 

167.	 Option (4) is correct.
	 The blank needs a preposition in the given sentence. 

With is a preposition. “With” refers to the “connection of 
two objects.” The boy and the pillar are in contact with 
each other. So, the appropriate preposition is “with.” 
Inside can be referred to as “in,” too. The child reached 
‘into’ his pockets with his hands. 

168.	 Option (3) is correct.
	 The sentence is in past tense. There are two actions 

taking place simultaneously, so both actions should be 
in the past tense. In the given sentence, the use of the 
present tense is incorrect. Hence, the correct sentence 
should be: The mother was asleep while the child was 
playing. 

169.	 Option (2) is correct.
	 This question tests a student’s understanding of idioms 

and phrases. “To make a beeline for” means to head 
directly and quickly towards something or some place. 
Example: I knew the boss was angry, so when I saw her 
come in, I made a beeline for the break room. 

170.	 Option (2) is correct.
	 There is an error in the preposition in the given sentence. 

At is used to refer to a location that is considered a point. 

In is used to refer to a large area. In the given sentence, 
we are talking about a city, which is a large area. So, 
replace “at” with “in”. 

171.	 Option (2) is correct.
	 The blank requires a verb that shows that an action has 

taken place before the present time. Because the latter 
part of the sentence expresses a person’s wish to borrow 
the book. Hence, the correct answer is “have read”. 

172.	 Option (4) is correct.
	 The incorrectly spelled word is “gallary”. It should be a 

gallery. 
173.	 Option (2) is correct.
	 This question tests a student’s understanding of phrases 

and idioms. Till the cows come home means for a very 
long time. Example: We can keep on arguing about this 
till the cows come home, but it won’t solve anything. 

174.	 Option (1) is correct.
	 A list of the books referred to in a scholarly work is 

called a bibliography. Hence, the correct answer is 
option (1). A bibliophile is a person who collects or has 
a great love of books. Calligraphy is an artistic writing 
style where the pressure is varied to create thick and 
thin lines, all in a single stroke. Holography is the study 
or production of holograms.

175.	 Option (1) is correct.
	 The incorrectly spelled word is “hinderence”. It should 

be hindrance, which means obstacle. 
176.	 Option (4) is correct.
	 The incorrectly spelled word is “designe”. It should be 

design. Despise means to hate. 
177.	 Option (3) is correct.
	 This question tests a student’s understanding of phrases 

and idioms. Touch and go means (of an outcome, 
especially one that is desired) possible but very 
uncertain. Example: “It was touch-and-go whether she 
could reach the pram before it overturned”. 

178.	 Option (4) is correct.
	 This question tests a student’s knowledge of vocabulary. ‘To 

spend the winter in a dormant state’ means ‘to stay indoors’, 
‘to be inactive’. ‘to procrastinate’, ‘to be lackadaisical’. To 
express this state, the apt word is “hibernated”. Connote 
means to imply or suggest. Convalesce means to recover 
one’s health and strength over a period of time after 
an illness or medical treatment. Hoist means to raise 
(something) by means of ropes and pulleys. 

179.	 Option (2) is correct.
	 This question tests a student’s knowledge of vocabulary. 

Someone who does not reveal one’s thoughts or feelings 
readily is reticent. Forthright means (of a person 
or their manner or speech) direct and outspoken. 
Communicative means willing, eager, or able to talk or 
impart information.

180.	 Option (4) is correct.
	 This question tests a student’s knowledge of vocabulary. 

The incorrectly spelled word is “audiance”. It should be 
an audience. Audible means able to be heard. Austere 
means severe or strict in manner or attitude. 

181.	 Option (1) is correct.
	 This question tests a student’s knowledge of vocabulary. 

TENSE means stretched, tight, or rigid. Example: “She 
tried to relax her tense muscles”. Strained and stiff are 
synonyms for tense. The antonym of tense is relaxed. 

182.	 Option (3) is correct.
	 The sentence has an error in subject-verb agreement. 

The subject “Saurav Ganguli” is singular, so it should be 
followed by the singular verb “has”. Thus, the error is in 
the usage of “have”. 
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183.	 Option (4) is correct.
	 The sentence has an error in the incorrect use of tense. 

The sentence mentions the actions of the past, so the 
tense used should be the past tense. Hence, the underlined 
part should be replaced by “kept our luggage”. 

184.	 Option (4) is correct.
	 The verb “enjoy” is followed by a gerund. Hence, use 

“swimming” instead of “to swim”. 
185.	 Option (3) is correct.
	 To prepare written material for publication by correcting 

or modifying it is called editing. Abridge means to 
shorten (a piece of writing) without losing the sense. 
Summarise means give a brief statement of the main 
points of (something). 

186.	 Option (4) is correct.
	 Refer to the lines of the passage: Western MP, in which 

Sehore falls, has received 1,335.4 mm of average rainfall 
from 1 June 1 to 25 September, 58% more than the 
region’s historical normal of 845.3 mm for this period. 

187.	 Option (1) is correct.
	 From the line of the passage: Gulab Singh, who owns 10 

acres not far from Dhangar’s field, is ruing his decision 
to have taken an additional six acres of land on lease for 
cultivating soyabean and wheat this year. It is clear that 
the 6 acres of land were taken by Gulab Singh. 

188.	 Option (1) is correct.
	 From the lines: “Most farmers in Guradiya Sirajuddin, as 

well as neighbouring villages, have reported widespread 
damage to their already matured standing crop”. Also, 
“But my expensive pursuit has proved costly,” remarks 
the 60-year-old, who, too, cannot enter his field without 
wading through water almost touching the knees”. 

189.	 Option (1) is correct.
	 Havoc means widespread destruction. 
190.	 Option (1) is correct.
	 Refer to the lines from the passage: In June, the opening 

month of the southwest monsoon season, the rains were 
actually 25.6% below the long-period average. In July, 
they were 31.2% above average. 

191.	 Option (1) is correct.
	 This question tests a student’s vocabulary. The 

incorrectly spelled word is “Ecsentricity”. The correct 
spelling of the “Ecsentricity’ is ‘Eccentricity’. 

192.	 Option (2) is correct.
	 This question tests a student’s vocabulary. Wane means to 

decrease in vigour or extent; to become weaker. Example: 
“Confidence in the dollar waned after the economic 
crash.” The antonym of wane is increase. Abate means 
to become less intense or widespread. Dwindle means to 
diminish gradually in size, amount, or strength. 

193.	 Option (3) is correct.
	 The blank requires a preposition. The preposition “from” 

is used to show the place where someone or something 
starts. In the sentence, the view becomes visible from a 
particular point. 

194.	 Option (1) is correct.
	 Since the blank needs a word to describe the amount 

spent on buying the apartments. The best word in this 
context is “price”. 

195.	 Option (1) is correct.
	 In the sentence, the price of the apartment is compared 

and it is mentioned that the prices are so high. To 
describe it the best word is “sky”. 

196.	 Option (1) is correct.
	 The blank requires a word that tells the starting 

point from which the prices start. Since, it is a factual 
statement, it should be in the simple present tense. 

197.	 Option (3) is correct.
	 The blank requires a word that describes the highest 

range. The apt word in this blank is “expensive”. 
198.	 Option (3) is correct.
	 A bed of roses means an easy and happy existence. 

Example: Making money is not a bed of roses; you have 
to wake up early and go to work. 

199.	 Option (4) is correct.
	 This question tests a student’s vocabulary. Scanty means 

of a very small amount or meagre. 
200.	 Option (1) is correct.
	 Futile means incapable of producing any useful result; 

it is pointless. Example: “It is futile to allocate blame for 
this”. The antonym of futile is productive. The rest of the 
words are synonyms for futile.




